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2. Using a ruler, measure your pencil

Estimate the length of your pencil to the nearest inch.

bin.

. 1, .
strip to the nearest - inch and mark the measurement with an X above

n,

the ruler below. Construct a fine plot of your classmates’ pencil measurements.
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3. Using a ruler, measure your pencil strip to the nearest " inch and mark the measurement with an X above

-the ruler below. Construct a line plot of your classmates’ pencil measurements.
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4. Using a ruler, measure your perncil strip to the nearest 3 inch and mark the measurement with an X above

the ruler below. Construct a line

plot of your classmates’ pencil measurements.
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5. Use alithree of your line plots to complete the following.

a. Compare the three plots, and write one sentence that describes how the plots are alike and one
sentence that describes how they are different.

ml 2 \ine olods are Sy ad _\;;ec\ap\Sa. J(}\e..j Al show Yhat
e ooy ok the venci) \Q‘f\g'i’hﬁ;i were bef%w e
d and 5% weres. The 3 | e p\-‘bf‘r \oeks A Cerent
Sepoe e C¥hel S pecowst Yhere S usw.x\\j Di\\j i
‘Qe{\c;\\ Q el ‘{Y\Ei&fiwf’c”:m&’\‘\:‘ ; @xce{) 35‘ -Qt:»(“’ LE % and "i Eilﬂ»

b. What is the difference between the measurements of the longest and shortest pencils on each of the
three line piots?
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c. Write 2 sentence describing how you could create a more precise ruler to measure your pencl strip.
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1. Draw a picture to show the division. Write a division expression using unit form. Then, express your

answer as a fraction. The first one is partially done for you.

a. 1+5=5ﬁﬁhs+5=1ﬂﬂh=§
!
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b 324 = V2 Yourdhs =4 D Your ¥hs = 4
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2. Draw to show how 2 children can equaily share 3 cookies. Write an equation, and express YOur answer as

a fraction. 3 2y - (0 \Y‘\&\\?ﬁﬁ A 3 \/\&“f 25
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3. Carly and Gina read the following problem in their math class.
Seven cereal bars were shared equally by 3 children. How much did each child receive?

Carly and Gina solve the problem differently. Carly gives each child 2 whole cereal bars, and then divides
the remaining cereal bar between the 3 children. Gina divides ali the cereal bars into thirds and shares

the thirds equally among the 3 children.

a. Hlustrate both girls’ solutions.

b. Explain why they are both right. ] ‘
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4. Fillin the blanks to make true number sentences.

L2 15 L4
d. 273=5 h. 15+8= c. 11+

3
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1. Fillin the chart. The first one is done for you.

2

;C2 halves + 2
= _3; haives

Niws

11 Check
4| 5 ax1i=1ipgialegl
20 fourths + 4 s L -4 ¢ 4 v 1 4
a. 5+4 - 1- a4+
=5 fourths 4 1 4+4
=4+1
=5
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24 fourths + 4

= b fourths

N

{Dhdes 2.

Q\él
Y

A AL
AxL2 22 v+ L2

5 .
d 5 - 2 Q“ ‘%\ & = 2 - .g }'—
x5 halves 2 N7
S
=5
s etk ias R bl S AR T RS WA R S T T B S N e e M R P S i L N S S T T i

Lesson 3:
Date:

COMMON
CORE

B 214 Comrman Core, ine. Sorme rghts reserved, commoneora.ong

intarpret a fraction as division.
9/17/14

P SR S A R

4.B.25

engage™

i Creative Commans Attribution-NonCermmerrjal-Sharedlike 3.0 Unported Lice



2. Aprincipal evenly distributes 6 reams of copy paper to 8 fifth-grade teachers.

a. How many reams of paper does each fifth-grade teacher receive? Explain how you know using
pictures, words, or numbers.

o reams Awided) Ozmamjs}r % deachers

? ¢ 3
(C'}WTN%;'"'({““ 3

Each jfec\ hey j&:‘\i‘s "3?' feam o paped .

b. ifthere were twice as many reams of paper and half as many teachers, how would the amount each

teacher receives change? Explain how you know using pictures, words, or numbers.

b reamns xZ =12 reams 12 448 Your s =4 = 12 fourans

?) 4‘80\(‘}\.@{ % 7= 8] Yeochelrs = %
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3. Acaterer has prepared 16 trays of hot food for an event. The trays are placed in warming boxes for
delivery. Each box can hold 5 trays of food.

a. How many warming boxes are necessary for delivery if the caterer wants to use as few boxes as

possible? Explain how you know. ‘u& _%ﬂ}‘ﬁé’ Wil e ure 5% war'mmﬁ ‘ba)‘.eb«
o drogs in groues oF 5 Whien meons that 8 bores colld be
L5 i ?.)% Sl and vhe 9™ Hox mgny hove
' = yust L Aoy Buk dhe catecer
will need ;‘:\;&_Qxe'.i
b

If the caterer fills a box completely before filling the next box, what fraction of the last box will be
empty?
1
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Date
1. Drawa tape diagram to solve. Express your answer as a fraction. Show the multiplication sentence to
check your answer. The first one is done for you.
.3=1
a. 1+3=2 Check: 3><%
1
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1 3
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3. Gregspent 54 on 5 packs of sport cards.
S8 0¢

a. How much did Greg spend on each pack?
. fri 5@“1‘},&; 5] ng'

— e —— 6 %
| Ly = B9

’ L1

1= 4
1= Q’arec spent 30 ¢ on eoch pack..

If Greg spent half as much money and bought twice as many packs of cards, how much did he spend

on each pa%?ziixplam your thinking. \t} U\Y\!% N % Z

b.
-Akqh“o—/;‘_ 2‘- i
— \ \U\ﬂ’ —10=70 " =

T
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4.

He spent 20 ¢ on each pock .

Five pounds of birdseed is used to fill 4 identical bird feeders
a2, What fraction of the birdseed will be needed to fill each feeder?

Thece are Hvdentieal bod Yeeders, 50 _Ogv the
\DN“ Aseed w\\ ‘pe needed Yo S;\\\ oo -S‘I‘@e_.d el

b. How many pounds of birdseed are used to fill each feeder? Draw a tape diagram to show your
kg dundts > Slb.
2 b Vb2 4
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How many ounces of birdseed are used to fill three birdfeeders?

\ Wb, 2 6oz bunmt = 200z,
\'i‘{\b :-’wf oZ. Bunwds = B3R 20 = 0oz,
= H-"L X bz o |
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Name Date

1. Atotal of 2 yards of fabric is used to make 5 identical piliows, How much fabric is used for each pillow?

2, ym’ds

R — — 5umys =2 \jf?m\;s
] | Lumdk = 25
ot { 1 Z .

7 =5 yard

Eadn pllow uses B yord & Saonc

2. Anice-cream shop uses 4 pints of ice cream to make 6 sundaes. How many pints of ice cream are used for
each sundae?

Y pinks Lumys = 4 pints

.ff"?*-r"‘i\\?w,j Vumd = 456
I N N S T
\—%;J ' ' - %ﬂ ‘ﬁ‘\}"

»

4y, 2
(o

Of F ewmih ok ree cream (s wSed in enen $0nA0e -

3. Anice-cream shop uses 6 bananas to make 4 identical sundaes. How many bananas are used in each
sundae? Use a tape diagram to show your work.

b banonas Jonds = G \i)Od\Clﬂ&-,‘S EAR2
P — . -
L | ‘M\] lumay = (0 - 4 q{}j

- \}i IbE\Y\C‘\-“QL 3

k)
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4,

Julian has to read 4 articles for school. He has 8 nights to read them. He decides to read the same number
of articles each night.

a. How many articles will he have to read per night? % u“‘\' > = L'! C"-‘T‘Ji“ \ Ci\! es

Y ardicle

el Lk = Y8
T I % mr-‘)r'\dﬁ

T -

= 5 arhele

“Tulvan MUsY Cemd % 2 B o
oan cetdiele. coon nMghnt.

b. What fraction of the reading assignment wil! he read each night?

Synce Dulan s readmna Soc eoch o B mghts
he 0ds ¥ of his To

A% C{SSS"\g‘ﬂ ment eoch
nmghk

5. 40 students shared 5 pizzas equally. How much pizza will each student receive? What fraction of the
pizza did each student receive?

) Pizzas 40 \M\\)fﬁ =5 @1‘2.-2,ch5
e Lunik = SO
'!' s s | e
J' 1 J '{ L] = g0 pma&.
udends 1 2 3 SR =3 39 4p

Eoch 6‘%&(‘1@{\-}’ ge«}-s ’5';”@ og o Q‘a"lz-&»

6. Lillian had 2 two-liter bottles of soda, which she distributed equally between 10 glasses

a. How much soda was in each glass? Express your answer as a fraction of a liter.
‘4 Litecs 10 s = Y \ll@-&(é
I

- T ' ; Vun¥y = 4+ 10
] [ o
%} | J ! f J t = ,;EL—% \i)fe-r

Each glass will ‘wu % \Aﬂa_r of seda.
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QOMM@N Lesson 5: Solve word problers involving the division of whole numbers with
C@REM answers int the form of fractions or whole numbars
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h. Express your answer as a decimal number of liters.

_{:L - LE .STQ'(\}\’\S = D“ q

Cacdh gloss will have O M iter o & sodo -
Express your answer as a whole number of miliiliters.
Vo Viker = 1, 000 ml
0.4 x\0CO = 400

6L = 4ol ml | |
Eocn glass ol howe 00 o} of ssda.

7. The Calef family likes to paddle along the Susquehanna River.

C.

They paddled the same distance each day over the course of 3 days, traveling a {otal of 14 mlles

Uk; i

a.
How many miles did they travel each day? Show your thmkmg in a tape diagram,.
\ . 37
. -
B bamk = QL z

e = %’" R ﬂ\& Q&\ Ei 3 ‘4\'(&'\3&3
- %%‘ e 4 % miles eoch C\O\j '

If the Calefs went half their daily distance each day, but extended their trip to twice as many days,

how far would they travel?
\%’Ci\g;— %\\& (X\S‘)f ances TW)CQ QS i‘ﬁ&f\w doa\%fs D\S'}'ﬂﬂ(‘.@ TE‘CN é’,ié’d
/ 3 days x2 = (a Aoy G days av 2. 3 les

b.

= G273 |
= 25225 24x25425L3
/ Tre Calely S;cvm\\:j ';2.3;% 3x 25345425
wowld s M\ Yrovel = i?——““'?f
Woenles. =VZr 2
AN
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Name Date

1. Find the vatue of each of the following.

= AIAA VANYANVAWAVAN
VAYVAN VAN AN ANNAN
JA\WAY VAN VANWANVAWAYAN

sof9= 3 lof15= S

2 " R
sof9= (& Zof15= O
3 _ 3 .
~of9= Y Sof15= | &

o |AAIAAAANAAAA
AANAATAA JANWAN
Zof20= Y

4
Sof20= |

=of20= 20

ANANALNALNAANAAAATAA
CIA A AN|AATA AT A

Lof24= A Sof24= \§

§0f24= q §0f24= 24

4 "
~of24= 177
a8
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2. Find % of 14. Draw a set and shade to show your thinking,

|

3. How does knowmgé of 24 help you find three-eighths of 24? Draw a picture to explain your thinking

AN Sf%"é"
O[O0 0|O]O]0] Oyel K g e dls
Olgio O s BB =9

OO0

4. There are 32 students in a class. Of the class, g of the students bring their own lunches. How many

12, students ‘b(“t"ﬂ_ﬂ

students bring their lunches?

A

ok 32 =\2

5. Jack collected 18 ten dollar bills while selling tickets for a show. He gave % of the bills to the theater and

XTI R XXX i x| xix! *- e .
X X!XZX X ?(%XEX] rvherr lunche
XX X x|X XXX
AKITA TR XXX XX

3

)

kept the rest. How much money did he keep?

Noek Kep ¥ VS ten-
doNes Bills, uwch
% b \ 50 .
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Lesson 6: Relate fractions as division to fraction of a set.
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Name

Date

1. Socive using a tape diagram.

Bum.-%'ﬁ D0
lunyt = 3652
o .%{%-

=17

C. %x24
Q\L} L’i’“ﬁ!%’) = azq % {‘\'
o= 2 wngs =
= lamd = 22 = PN : al
| r/t\ﬁ_\ NV - ? ==y Luny = 48
il sunbEs LT | S
‘ =% < Banyhss 3 xB
e. £x25 ST f. = x 140 B
5 S units = 25 ‘\ Ny
: 5 i '\x“{\}- - _%?...,,_ EL}B 1 uf\\‘\fﬁ - %L‘G
(,—-—-.,-*J/\——"‘—‘!’\ t e e, )r i L_\ o
| j | ] ARV - -V I [ | {ns
W = 2.0 2 ~ 2,(:)
1 . N
g ~x9 : h 2x12 Sands = 12
* 4 units = 9 U Y iy
1 - . g | 2- \ wnut
Sk I == Py
. : i <
|4 | P S ! e
El 2 A D l' Qunbs=1%+ 23
=473
i. -Eofa number is 10. What’s the number? j- %ofa number is 24. What's the number?
¢ dumis = 1O 2 Zumbs =24
WMTM‘— i AL AR \7 - '?_2{2' F,/'ﬁ_‘"fj'\"‘“"*""'*}_l \ GV X‘-— - ;L‘&Lé - ‘5
W =5 LWVI/ W ks =4 8- %2
o Zoamds = 359 1S 24
W\Q waper %b N5 'ﬂ\@, ny mbe( s D2,
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2. Solve using tape diagrams,
There are 48 students going on a field trip. One-fourth are girls. How many boys are going on the

a.

it

trip? . .
+3 Hunds = 48 There ace. 36 Doys

e . A3
?r. ! ! - tuny = V2 goyng on Yhe
o \__W__‘__‘__Hv,.___“_______‘,,fl 75 \l“'\if‘s - A ] Sﬁ\ei C} }“-{ \? !
= 3k

//—‘—f“'“““--“'—"__""'““’\f Vwnt

b. Three angles are labeled below with arcs. The smallest angle is%as large as the 160° angle. Find the

value of angle a. {E'E); % ik'f\;,)r 5= bbb
I e L0

wo LTI ey =% es0
9 :5%“;\3(5.;33;\20:(50

Jﬂ'\eﬁ \}&,\EUQ- OS«’ Om.s}&& O + 60 = gzu
'S 4O’ 300 220 = 4O
Abbie spent = ® of her money and saved the rest. If she spent $45, how much money did she have at
Suny ks = 45
45
£ = g

C.
first? P

Aobie stacted with

it

RO

nEneE |
45 Y

d. Mrs. Harrison used 16 ounces of dark chocolate while baking. She used é of the chocolate to make
some frosting and used the rest to make brownies. How much more chocolate did Mrs. Harrison use
A ne

qE -6b5735

=

in the brownies than in the frosting?

“3 6'\1&7"\1'3{5 = “@ ‘
’?T (;H] a2 =255 Mes. Hrarrison u.ag_u 35
N n )
: 7 7 l 9;'\*‘“\)‘5 =3 ore ounee s mh
r ﬁ 3w S T q 2 oo Vo i Ane
- ” Dowmes Yhon Yhe
(;"ﬂ}ﬁ xﬁ‘(\j
P I e, SRR g A e e i e ¢ e D T R R T T M A L A T L A I A N T S RS AR P S S TE TRPE
H ulti ny whole number fraction using tape diagrams.
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Name Date

1. iaura and Sean find the product of§ X 4 using different methods.

Laura; It's 2 thirds of 4. Sean: 1t's 4 groups of 2 thirds.
2 % i__8 2,2 .22, 2_8
X b= yty=iXg==3 sty F3T3=4x5=3

Use words, pictures, or numbers to compare theirmethtods in the space below. o .
Dol metheds ae corfecy . 5 % Y s avhwds of 4 and
ool dse . have. ahe some preduct G - Groups ot 2 thirds.
A 2 e 2/3
%‘x‘-‘i i i i i %5 (BT T2 T

7 A
2. Rewrite the following addition expressions as fractions as shown in the example.
2,2,2,2 a2 8
Examp!e.3+3+3+3~— : —3
a l+l47=381 2| b 22 5=§—2—73:Ei:'#§* cipdpto3Xd 1%
44 &y & 5 5 [N 777 -7 7
3. Solve and model each problem as a fraction of a set and as repeated addition.
b iy
S —— T
1. “j,'l 5 | Hlx V3l
Ix =2 xE= = 2_sx2_
Example.3x6w2x3 2 x2=4 6><3— 3 =4
1 . ; _5. = — 1. q?\——u—w'cx ‘ - —i" il ‘
a. EXBWE)’\‘Z‘ iX-LE L} BXEM = -——2""LI
% g
7 h‘"’\‘“—‘;'——r_'_.‘ﬁ“ ‘,-—-—-—-—-_.____.-/\,,___’____«___w\
] ) AN AN S NN
S —— : !.Z.aIZ.‘Z- 2. 2.-_2..2.2...
3 = A8 o9 g 3. ipx3 0 38
b Ex 1023 X :3%2 3 10 x f= f0E2 e
1O
_/“""ﬂ‘_*"‘-\___,_‘. # i N@_}.} — U,
] 222122 1L1RIE]E
~ 515151515 §[5;5 515;
Py — T TR R i
Lesson B: Relata a fraction of a setto the r ted addition int tati f
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4. Solve each problem in two different ways as modeled in the example
2 6><2 3XKIXKZ
Example: 6 X = =

2
3X4 2 Axz
3 3 a =4 6X~_Tw4
1
- 3
a. 14 X = 4 x 3
7 ‘ ) : |
= Lﬂl"éi TA2. 231 Al Q) = }47‘\3 . 2R3 (a
7T = = = . 2 .
: 3
W,iﬁgbuﬁx%xq._q?ﬂ-s

Py, _

. SAET - RAAaHG . BAT

= oo Y AT Ty - Ty 527
c. BOxE

30 x =
4 10 -
_ 30%1\%5 - sox5m3_i{) 39 5? = BOAS B A D 3q
= 0 fo o - A -
9
Lf .
. 9x3Z. %ﬂﬂ Biﬂs 25 30 - GAZE - 9xMY
] ﬂ‘)/i i
5. Solve each problem any way you choose
a. ~21->< 60 -;-minute= 50 seconds
3e

inleC . 1% 30

Z o 230

Ehour= L‘f)

P minutes
i5 .

%kilogram= ?DGO grams
i oG

7y
d. 2x 100 £ meter = 138,

centimeters
_dxien . dazC . on
T i
“““““ SRITTANP ¢ e e b T S R R T TR T SR e i R S R M TR
Lesson 8: Relate a fraction of a set to the repeated addition interpretation of
ggMé;MoN fraction multiplication.
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Name

Date

1. Convert. Show your work using a tape diagram or an equation. The first one is done for YOU.

1 1 _ .
a -:Eyard . 13 feet b. 3 foot = L& inches
7 -2
) . 12
5yard=5><1yard %foot:ix 1foot i .

=§x3feet

= § x 12 inches

12 ?
3

- L“% n;\t}\e,S

‘%‘Tem’ = 2% | year

O :
= w monins

4 g .
. Emeterz 0 centimeters

_d I E

g

< ™

- 0hem ,
5K O 5&?\\:}53 O

Lunit = 10

%"\( = ‘% 2 he L %

B 2014 Cornmen Core, Inc, Some rights ragerved. commancore.org

= ED mg{\‘%ﬁ’\"ﬁ
e. ghour= ui@ minutes 60 f. = QZ inches

1.

Z i 3
= Zab0mn.
{20 ) 6&1“\‘}'5 0
BEERRA TS Y S A
ZHO mn s uniks 2420
po L}C}

R R R R e S
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2. Mrs. Lang told her class that the class’s pet hamster i is7 X ft in length. How long is the hamster in inches?

"l"br ’}‘"\tl%

“”Un

—y

i 2. .

The hamster 18 3 nches }onje

'J'H"\ "‘3“"

3. At the market, Mr. Paul bought

Ib of cashews and b of walnuts.

a. How many cunces of cashews did Mr. Paul buy?

+\b = L.
T :
-2 (L oz
M ozZ..

- Y12
i O -

M. Poul bowgny 1t ounee? ok
CASNEWS -

b. How many ounces of walnuts did Mr, Paul buy?

Z\b -

1Lib.

{iYs P&\k\ Bomgm V2 OUNCES Ogv

i" “@‘1 g walnvts
L, |

c. How many more ounces of cashews than walnuts did Mr. Paul buy?

Y oz,

W 9&0» buujl‘\-’r Qs@uv\c‘:ﬂb m o &
DST coshews Mrow wcx\\f\& Xs.

d. If Mrs, Toombs bought 1% pounds of pistachios, who bought more nuts, Mr. Paul or Mrs. Toombs?

How many ounces more?

Me, Poddl Moz

+ V2. DE

2oz,

2oz —AYpz = Ao L

Me. Poud bci,\ W omee a'\v!'ﬁ
Hrom Mis. \c,@mbs Hf,bwgh%
Aounces mote dhon she did.

mlfﬁ . HOGW’&E} S50
Vi =

Zlb =24 1b

= % % “c VT -
_.5.-9«- ﬁQ,L«\tM.

4. A jewelry maker purchased 20 inches of gold cham She used of the chain for a bracelet. How many

inches of gold chain did she have left?

20 nenes
e

T T _;\

used, leky

A I TR S TR S B L A

CQM%QQN ‘ ;estsrfn o:
CORE e
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S umrs = Z;L)
L undd = 20 "‘QH‘

Fumts= ;;1-3’““*’2 x )3 +2<5+Z;%
20 j j . Lot .
=10 W%_ N e od 127 inches

2% =122 Ve S,

Find a fractton of measurement, and solve word problems.
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Name

Date

1. Write expressions to match the diagrams Then, evaluate.

—fg £ ()~ 9 (3
§«9q : :
A - R
P l l 11\43“;&17 = r \ R(m;%&aﬁ%a?)
\
) ~
AN -y e R
¢ 2 EC Go T
. 5 42*_
W R3, E‘Sﬁ
o
2. Write an expression to match, then evaluate.
a. %the sum of 16 and 20. b. Subtract 5 from % of 23,
-Z‘*-\) A-’ - .:L . ,;..5 -
e R To= 23 5=
:%_Q")_»-—-—-k i Pl Q‘» 5

o O

C T
c. 3 times as much as the sum of 2 and :i-.
ﬁﬁ_. - :2:_-) 2 =
}“L j « B
TN 3L
'ﬂq P L{ o

e. 8 coples of the sum of 4 thirds and 2 more.

[

%%3% 5{%
Y

-5

oy & .
3‘33‘(5

R e

d. 3 of the product ofE and 42.

@;‘ ‘-il)xf;:

z -
ri
L5 A2 .

dv2) « 8= 5 «8) v

& *’1)%% »-g)tul
3_ « 5 = 5’(‘%”’ '

32 e
== = |10
‘%0 Z >
2 L3
Tt T M A I T R B R R e R e I D DR R R B e L T AL VL EEEY ) bl
] Lesson 10; Compare and evaluate expressions with parentheses.
ggEEMQN | Date: 9/18/14
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3. Circle the expression(s) that gives the same product asi; X 7. Explain how you know.

4+ (7 % 5) 7+5x 4  (GxN+5D 45 x 7 @_} Cj\?\
I e

Jt)k\Q. @A\?{eﬁssans \f\&d Pre sSOyre Q\ bdv‘ﬁi‘i‘ bj

S o\W ‘“f) Arem ! }' Syt :%3 |
5. 2. 28 They all heve +he.

T can prove

1 L. 2% Sayne. PVG(\NU

1. 2%
L\*%”l"‘é E .
7’*}:’!”*%'&%1?5——-@ 0 =

5

4. Use <, >, or = to make true number sentences without calculating. Explain your thinking.

" .
2 ax2+4x2 3x§ 4 ﬁ%g‘ 'S MMOfe -%Mﬂ D% 3 without
&C\&\“g (L} 7’\23,

. , | o
o 639t () 6595 2§ nomberts more. Hhan &

Q?Sr He some number

: - ) AR
¢ 3x(3+3) (3><3)+i—§ A Me s 43 15 more Yhan

S e e R B T TR B e T R T e T AR T TS B e SR T T T Lt T Pl
CQMMON Lessan 10: Compare and evaluate expressions with parentheses. ny
CORE et gy engage ” o2
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5. Collette bought milk for herself each menth and recorded the amount in the table below. For (a—c), write
d.

an expression that records the calculation described. Then, soive to find the missing data in the table.

She bought i of July's total in June

A _ L_)}_.,é.,‘ . January 3
")Lz, S SR
February 2
March 11
4
Aoril v
h. She bought4as much in September as she did in January pr \ Z
N ? 3 -
and July combined. May ! :ll %
% X (?) XZ-) - June -—é‘-
July 2
,_! b D 5 o
August 1
1 ) 3.
¢. In April, she boughtzgalion less than twice as much as September 5 i}
she bought in August.
. g _ 8 October ;1;
) -2 =
XA 2-
Lo gl
T )

d. Display the data from the table in a line plot

X
X A X ok o £ X A X
Luai!is«i:illr!&!
f ; ' ! {
O \ pa 3 |
e,

How many gallons of milk did Collette buy from January to October?

B2\ e\ \ & xr-w.s(Z, +\~*?.> v 3y

4+ F =
Co\\ e,)r)rf; b@LxJ\“\"f ’MO« oy ik

C@MMGN
CORE

Lesson 10;
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Name Date

1. Kim and Courtney share a 16-ounce box of cereal. By the end of the week, Kim has eaten — 2 of the box,

and Courtney has eaten 1 of the box of cereal. What fraction of the box is left?

%f“’ .+"’ =
2 .z _\
g T % [ oz
‘,_,,——//\x_
g QOL)&Y\ J l | _/L/_I_V\__,J
S ———
5 K¢
% .

% ok Yhe baw s e Ly

2. Mathilde has 20 pints of green paint, She uses%of it to paint a landscape and 1% of it while painting a

clover. She decides that, for her next painting, she will need 14 pints of green paint. How much more
paint will she need to buy? tf

Q_x%@

Landscope. 3:5 % A0 - = § ?mjns

- 3
Clov e To w20 = 2% = {5 Py s

Used € +L =14 ?w\-\m “ M& ‘\f}\ de necdls ¥
Q(?_W'\Ox\‘{\\‘v\j 2.0 - \q = (g ?W\'\‘S o & @\;\373 iﬁt’

| : ' ; A
N@@d‘: \Uv* b = B pms Yhe nesd ponting

AR TP T G L e e e S AT 0 L e T LT I R e B AR T 1 g

COMMQN Lessan 11: Selve and create fraction word problems invelving addition, ny
c subttraction, and multiplication.. e I Bgage 4.0.27
Date: 9/18/14
a: g v | s work is licensed undar a
2014 Cornrnon Cors, Inc. Sore rights raserved, cammancore.org = :4::) EV-NC:SA-- | P Commens Attribution-NenCammercial-ShareAhke 3.0 Unported Licenss.




3. Jack, Jill, and Bill each carried a 48-ounce bucket full of water down the hill. By the time they reached the
bottom, Jack's bucket was onfy%full, Jill's was % full, and Bill's was % full. How much water did they spill
altogether on their way down the hill?

I2 +lb +40 = S oz

o nge_m}%\er -—H\Qj 5»?\;3(#
o 1§ "’Zﬂ'xi‘wb’ b0z, of walter.

4. Mrs. Diaz makes 5 dozen cookies for her class. One-ninth of her 27 students are absent the day she
brings the cookies. If she shares the cookies equally among the students who are present, how many
cookies will each student get?

Y 027-% 23 3 shudents are ‘dbsent
N f:'r"mde-m“‘f\s

S dozen = 1L =0 copkies
i A 1 . kO
(@G - ;l‘"i - v-ﬁfzr

1]

K]

Eoch shudent gets

A .
S ~ A7 covkies.
': ﬂ‘Z" _— C?l &
>. Create a story problem about a fish tank for the tape diagram below. Your story must include a fraction.
a . o .
84 ﬂﬂ(\&(t af . cf)u\ Of%o\ms\m\s iy OO

A

’ \

Qﬁ"e’. showoer Q%u&fm‘ﬂ'\y One.

\f\&\g DSC Phe TUAONISMS &
i i —"m-?-* S%-ee.c\if\g S:'\'sg\f\s O*{\e
’ si\'ﬂ-’w\ are Crustaceans,
'ﬂf\e, f@.\’%‘:\O\\\e’\l;a'\_ | Of GONISMS
arc C\{)-\Q\e_‘ snaals - Pow O

N\ e : 7
snonls are m the on !
4 Lesson 11: Selve and create fraction word problems involving addition,
C@MEMQN ‘ subtraction, and multiplication..
CQR Date: 9/18/14
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Name Date

1. A baseball team played 32 games and lost 8. Katy was the catcher | ing 2 of the winning games and of the
losing games,
a. What fraction of the games did the team win?

B2 gomes 27 = %= Q4

_ W = %ﬁ:‘; = L—?—% T he %eaml U on 3 o&- Yhe.
N N 32 i:’)OOET\Q pe ’t\ﬁ\ej %}\ e\\j ed .

b. In how many games did Katy play catcher? 3

, 3 Sy -
\(&4\\3 Maan s % %Qq = bgffw— =~ 13 gmme.s

Lot F x5+ & - 2 games

W e

\i(ﬁj ploged VI games.

2. In Mrs. Elliott’s garden, % of the flowers are red, i of them are purple, and % of the remaining flowers are
pink. If there are 128 flowers, how many flowers are pink?

S RS S .32 _ |
¥ YU 7oyt 53 X @-g' Yhe. Sf\omefs ore. ced and @u\rp\e

ik
< oS 2% - g_»}__%ﬁ_ = 1%
\2% -4%: %0
Fob 0 2L

Yowers are -f‘){nk,

BT e B T RS e W S s R T 2B e
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3. Lillian and Darlene plan to get their homework finished within one hour. Darlene completes her math
homework in % hour. Lillian completes her math homework with E hour remaining. Who completes her

homework faster and by how many minutes?

Bonus: Give the answer as a fraction of an hour,

-

. 2 : B 5 s
D&%’\ene, - 5 X (aO My = -—fjj%“i—'“ = 3% mmwi‘rﬂb
o P L0 . S
Ly \\\9«\ 9 o 4 {af}amm = —H% = o mmv&'ﬁ )

Be-10 2 2o Litlvan compledec re homewsr k
26 mwnutes Sostee Yhan

Ponws o T 3% ok an Nowr

4. Create and solve a story problem about a baker and some flour whose solution is given by the expression
%x (3 +5)

A baker uwsed o CQW‘EW\&%%n of wWhile Wheat and
W Mowr 4o boke breod . She then
Awhvded Yhe Sr\m&( ¥ H bodches T4
She used D cups ok whade Nour and
5 ouwpes oY whole whe ot -g\o\w; howd My eh
WNouy 5 Wsed Yoc e \G&‘QE

S R S SR R L RN B S T N U e DV g S I e S L £ SRS B
CQMM@N Lesson 12: Solve and create fraction word problems involving addition,

ny
- subtraction, and multiplication. a 4.0.43
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5. Create and solve a story problem about a baker and 36 kilograms of an ingredient that is modeled by the
following tape diagram. Include at least one fraction in your story.

& \00\\(@‘ used Bb kx\&gro\wxs

36

I A | oy Wouy g\ a\\j over Yhree
hd A0S, Owv one o '*‘Y\é-é ¢
e (&&\33 e used e -g%\\b\,k-fj
Douns = 36 Q%\"‘&‘\f\js Yo moke fws treats.
Vumi ¥y = V2. How much WNoue was wseck

‘}i 0&' Vo = (Okﬁ .%( ane. ;\"('EC&"\‘
b \Kg- Was wsed --(:Qr one ‘veod.

Of the students in Mr. Smith's fifth grade class, 31 were absent on Monday. Of the students in Mrs.

lacobs’ class, 2 were absent on Monday. If there were 4 students absent in each cfass en Monday, how
many students are in each class?

:—-v-? ’?
. 4 “_J\.\__‘ — t )

0 /—-———————- -
M{wém\:'ﬁ\s 1 T MrsNactbs oo
t\ass | | X

4 %
\\m\% - Y dunvks = 4
A unds = V2 Lundy = 2
Sumys = 10

’T\_\\efc:, O\N’Z Q:‘ b\%u\é\evxlrs Thece ace \D studeny s
WM. S myirhs G\O\SS - Wy MNes. Nacob 3 c\nsS

SRR T BN T T L TR S e e T i e A T e
Solve and create fraction word problems involving addition, ny
subtraction, and multiplication. engage 4.0.44
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Name

Date

1.

Solve. Draw a rectangular fraction model to show your thinking. Then, write a muftiplication sentence.
The first one has been done for you.

1
Fi
1 1
a, Halfofipanofbrowniesz 8 pan of brownies
1,11
274 8 1
2
: 4 : L
b. HaIfoEpanofbrowmes: g pan ol Afourthof;panofbrowmes= i 2
of brownies pan of brownies
i \
Lor o L o A
ﬁ la-gg i// 4 O‘g 3
S Y /1 N
jﬁg\;«tg o "L{Xj}
i, _s..( . [
L GRS =
T V2
':_i.
LIS R
e of = T2
N oo {
| 4 ok i;%
. .Jﬁ N N
T4y
s
[

AECR s et

COMMON
CORE
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2. Draw rectangular fraction models of 3 Xi and éxﬁ. Compare multiplying a number by 3 and by 1 third. \ i i
4

3. gof lla’s workspace is covered in paper. gof the paper is covered in yellow sticky notes. What fraction of

lla’s workspace is covered in yellow sticky notes? Draw a picture te support your answer.,
Y Y p pPp

"t ok Tla's work.ploce 1%
coveled wx ﬁel\ts‘-‘«i {;)+\c’kj
NG Yes-

4. A marching band is rehearsing in rectangular formation, %ofthe marching band members play

percussion instruments, —:»of the percussionists play the snare drum. What fraction of all the band

members play the snare drum?

A & \ : L :
2. ‘D'g 5 19 QL all ¥he bond m&m\gefﬁ
~ i - . )
=5 2 ?\‘O‘:} Yre Snoge deim .
A
e ](}

5. Marie is designing a bedspread for her grandson’s new bedroom. gof the bedspread is covered in race

cars and the rest is striped. :liof the stripes are red. What fraction of the bedspread is covered in red

stripes? L _L
ol ﬂ__::“;-:;w-r::“'/\:‘fﬁ:';“;“;:'“’”“'—:::_«:“k . L ; ) 5.
‘ T V2 g}& +he \De(\épfe_&d

i--_-“ 4 S covered in ved)

';!. 'o: .

J f:: o T 6 \f": \ ¢ f) ‘
S S /5"72/;?} red ¥
e T i N

% cQee COrs Srripes
lesson 13: Multiply unit fractions by unit fractions, n
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Name Date

1. Solve. Draw a rectangufar fraction model to explain your thinking. Then, write a number sentence. An
example has been done for you.

Example:

1 .2 1 , ,

50f5=50f2f|ﬂh521flﬁh EX?_...._Z*__},
2757 10 s

a. Sor2=lof D fourths=_1 fourth ~of 4 fifths=_oR fifthe

}
V“"""""'/\-—W oy o m——
T A S NG Pk
ozl 3K SRS
% A )
L ek ) %] z =
i 4 e - ] -
s = ®
e
Ed
Li.

3

Z A 3 ]

/// .!._. - 3 . -

T hate2 S AR
e =70 1By T T2

‘S\' ::: | ‘“']E “‘J.

| i S =

=i — b G

5

Lesson 14; Multiply unit fractions by non-unit fractions.
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2. gof the songs on Harrison’s music player are hip-hop. ~31~0f the remaining songs are rhythm and blues.
What fraction of all the songs are rhythm and blues? Use a tape diagram to solve,

foka) songs 3 of B eughths= Leighth
s }\\‘”‘__‘ ‘“““‘“‘“‘“*“‘“""““‘“

b S

£ #Lﬁ_.j{ /}XJL | E _i “%“ of o the S0NGS are
%’\g»{}«h@@ rh f}\m (hythen cnd blues.
Dlues

3. Three-fifths of the students in a room are girls. One-third of the girls have blond hair. One-half of the

boys have brown hair.
a. What fraction of ali the students are girls with blond hair?

/fﬂibi?\ 335}?)‘:5“‘*\ % ¢ 3 ;{; : Sr}}‘\é -4 S\:\\ i; Yy
M g%){mf\ ! _E:Z? ()gr oll the :ﬁ‘u\(\ 6"{\\1’3 are q n’\é
T oms WiFR blonde Mooy

girls SOVE:

b. What fraction of all the students are boys without brown hair?
Y - T -
5 of & Rlhs - 4 Sk

i\g o all Yhe shudents ace bﬁjf w Wheut
Browo hove.

4. Cody and Sam mowed the vard on Saturday. Dad told Cody to mow - 2 of the yard. He told Sam te mmwg1

of the remainder of the yard. Dad paid each of the boys an equal amount Sam said, “Dad, that’s not fair!
I had to mow one-third and Cody only mowed one-fourth!” Explain to Sam the error in his thinking.

Draw a picture to support your reasoning.

Mx@‘\e 9@{%3\ Afler C@C\:ﬁ mowed Z;f o he. \}Md,

r N ;--\---”"_”T”-T:Dﬁ- a . _ . 1 | |
T T F ek Sam mowed 3 of 3 Fourins
CVDdT;; '\.K}\\{C/\'\ \’6 (bUkO\ ‘k\'j i &.0\6\'{' "(’hv §O}
W‘j mbwed on Q(%Lul\ PQE% D_@ ﬂ\e \}Amn(
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Name

Date

1. Solve. Draw a rectangular fraction modei to explain your thinking. Then, write a multiplication sentence.
The first one is done for you.

=

s e

Lessan 15; Multiply non-unit fractians by non-unit fractions. n
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2 & 4 2
c. gx; d. EXE
= . A i
- 2RE L AXZ Y - B3 L 2a) 2
-7 sAnibs 345 I3

E‘%;‘x’! T

3. Phillip’s family traveled —1% of the distance to his grandmother’s house on Saturday. They traveled g of the

remaining distance on Sunday. What fraction of the total distance to his grandmother’s house was
traveled on Sunday?

/ﬂjiﬁdﬂhd% JS\‘}‘LH\C,-Q& % Y g 7 j‘.ﬁ\ %\\ g = U( Yen¥n s

[ VP — —
E [ e,

oty ! i g g .. ._.-.,...-I_-...:._...k

HENEENEEEN : - !
R = 4eocon e  acond i ther
Aroveled Feaveledt 6 of the distance Yo Wis grandimthecs

Sok Sun.? huse was Araveled on Ounday -

4. Santinc bought a % pound bag of chocolate chips. He used g of the bag while baking. How many pounds
of chocolate chips did he use while baking?

23,2 3 '3x3 L
3’0&”‘ I B RV

Sonk ine wsed nolE o pound ol cheeolate
Ships while \Da\émﬁ»

. 5 o0 : . 3 - .
5. Farmer Dave harvested his corn. He stored 5 of his corn in cne large silo and " of the remaining cornin a

small silo. The rest was taken to market to be sold.
a. What fraction of the corn was stored in the small silo?

15 4ons ok corn ’ - , ’
| % ons ot co _ % (}g" L’\, O S = Damihs = 1 'H\\f(_\
T !‘ v
%_L—fﬂ-i m_.-w N - | \ ! 2 hThLY Ots S {ed
ara 2 smal Aehe One Ahved o} Hhe covn W to
S0 Sl s01d 7 W Vel 5ol Si\ﬁw

b. If he harvested 18 tons of corn, how many tons did he take to market?

3 s VK Former Dove Yool oL ons
13-

oG Lo 18 pE-2 _
TOX\B7 g« Ty T ok cofn 4e warKet.
y asson 15; Muitiply non-unit fractions by non-unit fractions.
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Date

Name

Solve and show your thinking with a tape diagram.

1. Mrs. Onusko made 60 cookies for a bake sale. She sold % of them and gave % of the remaining cookies to
the students working at the sale. How many cookies did she have left?

h{"& Zuniys = 6O cookres
fj\t) g;\;b_{;l—ds \ U\.\‘\\q” A0 OC)(}\C;Q_S
Sl il

scld

L 2024 = Do cmk-x eS
5155 s | ‘ o
DJ e S NS, Onuske ‘H’\G:.C\ SOOﬁk\QxS \@&‘i"

2. Joakimisicing 30 cupcakes. He spreads mint icing on % of the cupcakes and chocolate on -i; of the
remaining cupcakes. The rest will get vanilla icing. How many cupcakes have vanilia fcing?

30
m/\ guﬂ\ '{"“5 = ?)0 N p QG\K{;_§
e
j 1 E b wray \' =, &g T AN
g 2t |
Ty QU Y7 V2 Qupeakes
V2 VL
o Z“:J Twelve cuvpoa¥aes hove
ok vanil Vo ew 1Cing

3. The Booster Club sells 240 cheeseburgers. = of the cheeseburgers had plckles Zof the remaining burgers
had onions, and the rest had tomato. How many cheeseburgers had tomato?

240 |
. fonds = 240

o |60 | ko
LE} ‘{ L““?PJ \U\Y\\)ﬁ" = (0O

N %0 2 =40

{ ag il qo j
rvans tomokees N‘"QH cheese Bucgers hod
Sﬁ*}mO&

el SRR N U e L e e

| Lesson 16: Solve word problems using tape diagrams and fraction-by-fraction
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4. DeSean is sorting his rock collection. %of the rocks are metamorphic and % of the remainder are igneous
rocks. If the 3 rocks left over are sedimentary, how many rocks does DeSean have?

ﬁ_%ﬁ'&ﬂ! bunid ~ (2 recks
lz V> (12 Auniks = 36 vacks
\_.__—v——-/‘:’
elamorpne
L -
‘fﬁ’r De Seon has 36 rocks
‘;lajt,ﬁ AxH =12

5. Milan puts- of her Iawn -Mmowing money in savings and uses ~ > of the remaining money to pay back her
sister. If she ha_g?S 15 left, how much did she have at first?

e "‘_‘“““""A‘i““““”f_x 3 unds = $30
iﬁm tip Iﬁm ﬁi@l L = $ Lo
SN NGS5 /ﬂj?\sﬁ_;_\ 4 uniks = § 4o

fis |85 f & 8 . ; "

g 1Sx2.=%30 W} P40 o st
Si5Ter ek Malan E'\O\ci
6. Parks is wearing several rubber bracelets. 3 of the bracelets are tie-dye, 1 are blue, and = s of the

remainder are camouflage. If Parks wears 2 camouflage bracelets, how many braceiets does he have on?
“"?

e UndS = G bracdels
S N T i Luni¥ = A bracleds
,-a——-mw-_..__,,,_ﬂ‘--v\_, o
fie-dye bm G ks =\ beacleds

p@f\{is l’\O\S 12 b‘((hdﬁ.’fs Oy,

7. Ahmed spent ; of his money on a burrito and a water bottle. The burrito cost 2 times as much as the
water. The burrito cost $4, how much money does Ahmed have left?

i1
g‘; l Q\u‘ﬂ\)rb L‘E

T Vunik = 972
 Ahmed has #1216kt
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Date

Name

Rewrite each expression as a multiplication sentence with decimal factors. The first

Multiply and model.

1.

one is done for you.

ﬁ o
O
HL
_ ah
NN R e &5
ﬂy////now&Xqﬁ =
O N NIGERS
ARSVNNNN Y E T
. e @ °
oS Hv
P Y
2 = ~Ni2
. Tle =
e
{ i
S
<o
1}
S
X
NE
big
l#w
E
=g :1 __1

S
"

///AOVVKCQ
ﬁ///ﬂ@?//&
./,.//./////./p,//r/« .MAq
INEOINNN N NN
[
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m\.««:.». y.ec.. - f ,,....J ;MM f../. M/“. ../.J MJWJ VA/‘V
[nNSNSSERNN S
AN AN N R N ¥ \
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N /«.,.,./,//././,,/// ./,,r»s _
ﬂffyyxxaaaﬁk
NSNSV NSNS
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X mﬁm o
il =T St £
K ﬁ‘ﬂ_;ﬁ

Y

i0

LS

Sl xVd = 0o\

T
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&

T

™
}
{
|

AANAN AN
A A1

~
o
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==

-
S
£

70

DN NS
| SNSRI
SNSRI e
LR OISPSPK R
§ NLRRRRRE 1o
SO RO =i
//J/J(/r/\(M_%.W\/;V“VAVA.‘.VA\
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2. Multiply. The first few are started for you.

a, 5x07= 3.5 b. 05x07=_0),35 c. 005x07=0.03%
- 7 =3 7 =S w7
ﬁsxlo "mxlo _1n_nx1n
_5x7 _ 5x7 5«1
T T 10 x 10 T 100x10
_35 .35 35
BET e © 000
=35 =035 = 0055

d. 6x03=_{.R e. 0.6x03= 0.1% f. 0.06x0.3= 0.,D\%

P B L 2 . A 2
= bx % * e 2 G F 0 ; 7%
s Ez;rf\-s S "223 - b)\

T PiCAID 100 %10
= 1% > 13 - A0

o e o5°

g 12x4= 4.9 h. 12x04= D4 i 0.12x04=0.04%

- 'EZ-, 1 = léa ;tiq e il

IBR LE T T f’%
= JZAYM S o L*Y

i ioRIC 00 R0
- L!}"f)-’ h -_..“g =S L{?)

o fOU s

3. Aboy scout has a ength of rope measuring 0.7 meter. He uses 2 tenths of the rope to tie a knot at one
end. How many meters of rope are in the knot?

& Yentns ok DL

e -:23"' X Q < .T \L% ) «g‘
- | gy C5 N 7 Gy e -
‘:’L- i 14, 100 N\x-\ﬂ > n..gr vope qyéd W Yne Kng

< o X 8 ¢ogon
Fies J‘G /

4. After just 4 tenths of a 2.5 mile race was completed, Lenox took the lead and remained there until the
end of the race. g

a. How many miles did Lenox lead the race? e
4 denis ¥ 205 ma

o ﬂ-s 25 §QO b \_e . _S;&r :\,S'Y‘;\\\és—
TR R v Y oo led Yo

b. Reid, the second place finisher, developed a cramp with 3 tenths of the race remaining. How many
miles did Reid run without a cramp?

D tenhs 6* A 290 Red ran 115 miles
R - IR AL SWWhowt & eram.
= w22 um 015w VEL wYhou {
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miltions through thousandths place value chart
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Name

Date

1. Multiply using both fraction form and unit form. Check your answer by counting the decimal places.

The first one is done for you.
3. 2.3x18=wm~ >< —

10 2 3 tenths
X 1 8tenths
:ZBXIS 1 8 4
100 + 2 3 0
414 4 1 4 hundredths
= Too
=4.14
- Géx-z'gz % Gl tenihs
‘;% * XA teniing
= bbx2y 54L%
(B A0 ¥ 19 1‘2)(3_ .
= L DHg LB RT U R hondeed ths
T
= 1948

h. 23x09= 2 3 tenths
23 < q. X 9tenthsl _‘
R 26T hundredths
= 22 R4
RIS = .07
- 2071
T
= .07
d 33x14= 23 Lenans
33 4 M A Y donahs
s q‘ﬁ £yl
2 DBX) e
wwieT 4820
- 4oz 062 hundredHns
oo
=2

2. Multiply using fraction form and unit form. Check your answer by counting the decimal places.

The first one is done for you.

=238, 18 2 3 8 hundredths =
a. 238x18 100 7 10 x 1 Bt:n:hs b'g;:_’?xo'g 2 3 7 hundredths
238 x 18 1204 (DD %% > Qtfenths .
= 1,000 + 238290 . . 3;}?)5 'ﬁ'\\i}\}\jﬂrj\d %‘lf\ﬁ
4,2 8 4 thousandths s %ﬁﬂ? LS i" !
_ 4284 L0010
1,000 a3
e
= 4.284 OV
= A 4353 ,
¢ 606x28= bolp 28 GOG hondeed s o 33%x014= 23 . 1 23 tenins
TS el O TG00, 4y henOredho
K AD TTEnIn . BHXM T
- L0bx 25 Y 39S EPTE VoL
mm s ib [ES s ez t 530
a,aw e, Al % thavsanding \, G 00 QL2 Ahousandis
i c.gL3 = 0402 = MLl
Lesson 18: Refate decimal and fraction multiplication. n
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3. Solve using the standard algorithm. Show your thinking about the units of your product. The first one is
done foryou.

a. 3.2x06=1.92 b 32x12= 354
3 2 tenths 32 6 _32x56 3 2tenths B3 4z 38Y
X__6tenths 10 710 100 x_1 2tenths R T
1 9 2 hundredths (4
+ 320
2% 4 hendredths
¢ 831x24= 4, qQUu d 7.50x35=_Alo. AS
331 hundeedng 33 499 7SChundiedihs 750 35 26,250
ﬁﬂjer\mb i 55 - '”9{3(: K25 dentns o0 AT 7,600
3324 21 50
i | b0 F2 2500
1 4, AU Fhowsand th s 2,0, 250 thousand ths

4. Carolyn buys 1.2 pounds of chicken breast. If each pound of chicken breast costs $3.70, how much will
she pay for the chicken breast? -~ - C
370 hyndredahs

Vunit costs 3.70 A 12 fenins
y.Lunds cost 1.2 x 3070 “un She wil\ 90%\
TR 2100 4.4 Soc Y
4 4y o thousand s chicken .

5. Akitchen measures 3.75 meters by 4.2 meters.
a. Find the area of the kitchen.

Areo = Lengrh » Widh 375 hondtedns

2 7s w Q.2 A B2 Yentns The acea oF Yhe
— : 150 Kikohen Y6
,\‘Sejgf} iSQ \f—)‘—(%(’)v\(\z",

15715 C-&»\\wéaﬂé s
b. The area of the living room is one and a half timés that of the kitchen. Find the total area of the living
room and the kitchen.

V.5 2 VS.750 = 43,625 1575 hunoted ths 2325
.‘ a 2 c o 5 — S AenYns 15 15 B
VSTB0 v 2325 = B3 ”’J““‘wg 198 .
- 5 .21
¥ 57150
/T}\Q-e %bg' Cﬁ ¢ ”\ S ?’q $ 5‘7 3 _m'l_“ ;‘3 Qxlf) %Biﬁ&&!\dﬂ'\ <
EQ¥F°N ‘ ;Zsts:n 18: ;{;it;?icimai and fraction multiplication. engage EE;SE
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Name

Date

1. Convert. Expressyour answer as a mixed number, if possible. The first one is done for you.

2
a 2ft=___ 3 vyd b. 4ft=___}i¥d
2H=2X1ft 4ft=4 X 11t

2 =_ 3 yd

=3 Y L
= 13 yd.

= -

¢. 7in=__ 12- ft d. 13in= EEL ft

= V3 % lin,

4
IS
)
W

13 x5 4

e. 50z= il b

=5 X Yoz,

-5 % b,

L
f. 180z= E% b

19w oz,

= V¥ % ”E"(L, “:v

ih

St

oy
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2. Regina buys 24 inches of trim for a craft project,
a. What fraction of a yard does Regina huy?
y -~ 4 .
Q{"! v - ﬁCE Q\L“Hf\ = “;'1{'%’ X \“ﬂ .
R A
> A4 % 3 yd.

a
-

A :
EPRLE Rea: \O % ord
G - ard.
= 2 yd €gine. buys 3 Yy
b. if awhole yard of trim costs $6, how much did Regina pay?

$ 6

g % ng',(o
@ A
e S ‘? RQ 5% MO ?&\d g"\ ;

2_ 7

) iyt

3. AtYo-Yo Yogurt, the scale says that Sara has 8 ounces of vanilla yogurt in her cup. Her fathet’s yogurt
weighs 11 ounces. How many pounds of frozen yogurt did they buy altogether? Express your answer asa

mixed number. \q oL = ﬁ)

e 1 M =19 x oz T\hﬁ\f \sm\g ht

Saro | Doz, |

i

T : ~ 1b.- : e L
Fadner { oz, j tj \1 o b U% pounds o _
?r L =\Q i IE ' Srozen yogurs
% l : = i -I'Z: \k)’ a\_\—bﬁ@}}\eﬁ

~J

How many gallons of milk does he Qrink in 2 weeks?
WM aups= . gallons
=4 x \aup \ 1
. A i ﬂ\ %‘& dw\&’\\b‘f« %
14 ¥ ¢ gakon gq\\t}\’\ ot

4. Pheng-Xu drinks 1 cup of milk every day for lunch.

| week = Tdays
Fdwmee¥d = At ] = 14 c\c%xfjﬁ

VAoy = \aup =M en e w2
. q d . o q .t S Eﬁﬂ 9& .
W days = 1 eup . Wweeks.
s % fjal lon
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Name

1. Convert. Show your work. Express your answer as a mixed number. (Draw a tape diagram If it helps

you.) The first one is done for you.

Date

T30 ﬂ“%% RSy

1

Y& x\2n
Y

= = R{Zan.

_N’

{3
el
M

= A4
= 12
= 19

2 1 =
a. ZEyd =_8 ft b. 1-2~qt= “%f’ gal
2 2 12qt=12 x1qt
ZEYd 22'?: X 1\,"d 2q T4y q
2 =11 w1
8 =2 % Zgal
:§x3ft =5 X 8
- 2
_ 2% = =
= = ft % 36&«
= 8ft
. 4in=_ Sk in d. 92pt= q—%; gt

i
—
<
=
o

W

>
£
7.
?

L P R A e TR T Ty T T S T P T
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2. Three dump trucks are carrying topsoil to 2 construction site. Truck A carries 3,545 Ib, Truck B carries
1,758 Ib, and Truck C carries 3,697 Ib. How many tons of topsoil are the 3 trucks carrying altogether?

Z

B STV N

A | B

3545 1,75%

Dy Y

C- ’j

3647

3 549
L1 8%
F36qT

qI’C}GG

A\%g@ﬁ\%‘ Pre -~¥(n\c\:<5 Qe

catrying Y3 duns.

€000 ths= P =
=9.000 » \ Yo
T_QEOGG X'i:égg Foves

= 4,000
2,660 tons

43 Yons

3, Melissa buys 3%ga|lons of iced tea. Denita buys 7 quarts more than Melissa. How much tea do they buy

altogether? Express your answer in quarts.

2

"‘A"-v—-_..--
M R
D

7

ek

e
| I

1ot
MQ\;\ﬁﬁQ ond, \:)ay\\-\%‘a \O\,Lj

) %}"”36{{ = e %—\

V5 gt
y Tab

3,
= D4 A \gc\!*

'}%x‘ L\%}rh

] o

- i o .
- el 20
-:si‘f)%‘\"r

37 %‘G\G\f"\'ﬁ of Yea A\dogevher.
4. Marvin buys a hose that is 27§feet long. He already owns a hose at home that is g the length of the new

hose. How many total yards of hose does Marvin have now?

Heyf= e

213 B 273 L. .
S + 1% 2 §h =4t « | A

2014 Cammon Core, Ene. Sorme rights resened. cammancore, org
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L = 96 L, ey
2, . 3 “
g?\ 9\-"& f{gx-‘ = ‘S i_,i’ 16&;
= 5 x '%; b, Marvin now has
= %ﬁﬁ\%‘ﬁ&_. \55%:’ \}Qrc\s ok hse -
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Name Date

1. Filtin the blanks. The first one has been done for you.

1 1.3 3 3 3 T 21 7 7 5 25
a, “Xl=c-X-=— b. =X l==-x—-—==2== € - X1l=-X=—==
4 1737 12 4 +7 7 78 4 47 g 20

d. Use words ta compare the size of the product to the size of the first factor.

E&c\s\ '*‘%";‘m&f the. gf‘i\’ﬁ"’f ‘(\:C&C:%ﬁ{“ 3 Ee“xmﬁ ‘M\A\'%‘:pb‘n;ed ‘@}j A
Sea erion e%ﬂ&\ 4o .1} 506 e, prod wet Vs @%uo\\
Yo the Svst Sactker.

2. Express each fraction as an equivalent decimal.

125 24 3 25 _ 1%
: "% o b. 1 %%T o0

= .25 = (.75

1A 2 LI N
C le— e d.5><:2“w TS

RS
1,9 £ 27 2 M3 2
e. = X2 .2 f 5F TGO

% 20

m;m
P
i
|

Loz d o 46 R e
s 2T oo F5R T ETE0

- G@qg = g,%&f:

k. 2;5'}\',_‘ ;Q\EQO . 3;5){2"”57@0

Bl L 1 Bl
= oAt = B.L2l
s R R e LA O R e

T R R B A A st et
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3. Jack said that if you take a number and multiply it by a fraction, the product wiil always be smailer than
what you started with. Is he correct? Why or why not? Explain your answer, and give at least two
examples to support your thinking.

Toek is mignd some ok 2 Z k.3 3

. ' ) : R Ty - e

“he, e ; Puy no a\wagﬁ- A '
#;x’ \}0\}, ﬁ’\\?\\-—\n: 91\5 bj Ch Same. Dumber

roehen egpuad ot (like %) |
Yhee otoduct 38 € Lrol Yo whal you Storded widh .
4. Thereis an infinite number of ways to represent 1 on the number line. In the space below, write at least
four expressions multiplying by 1. Represent one differently in each expression.

’ : 50 o
3at=beg saig=52=5

*

. . 24 . 100 .
\L R 5= =l 100 X oo MEOESSQ~ = {00

5. Maria multiplied by 1 to rename % as hundredths. She made factor pairs equal to 10. Use her method to
change one-eighth to an equivalent decimat.

., 1 1 5x3 5X5 25
- = =—=0.2
Marrasway Py 2%x2 " 5%5 {2 x5} % (2x5) 100 >

S= o SRS S SAS5AS = A5 -
8 SRS RS '@Js)(zzx‘s)(&x‘i} oG T O*U#S
Paulo renamed é as a decimal, too. He knows the decimal equal to %, and he knows that é is half as much

as ?11" Can you use his ideas to show another way to find the decimal equal to %?

é’? =0.29 = 0.250 = 250 Yhousand ths

s of T WAl of 250 Phewsand ths
s RS Mrouwsandihs

‘%gff::(:*pﬁlﬁ

5T PR S W e e T S R B B L B S LR 0 U TR P L s e e T R L s
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Name Date

1. Solve for the unknown. Rewrite each phrase as a multiplication sentence. Circle the scaling factar and
put a hox around the number of meters.

a. %as long as 8 meters = {"‘i meters b. 8 times as long as 5 meter = Lﬂ meters
Ny | TR
7+ e Y C}J “’“\ =
CJ SN Zi=4

2. Draw a tape diagram to model each situation in Problem 1, and describe what happened to the number
of meters when it was multiplied by the scaling factor.

a. 4 h i
/ﬂ-—-——-—-n_“___.-"m_-m____‘_w___m__k. T
L \f f r .
Gz | ENEREEER
: 4 . _ The, SCahne Yo Yo _‘5 fj'{e&%?{;,
The. scale -Sr&cém‘ s less Yhan Yoo A, 50 the # ok reeieds
L, o0 the #F of meders decvensed . Wereased-
3. Filtin the blank with a numerator or denominator to make the number sentence true.
2 Tx2<7 b. =% 15> 15 ¢ 3x2=3
4 2 5

4. Look at the inequalities in each box. Choose a single fraction to write in all three blanks that would make
all three number sentences true. Explain how you know.

2 X *g"g > 2 %x;"g.i>

m&\-¥x9\3 by o Srachion greaks thon 4 i\ mekee
"%\\Q, g{ﬁc\\kc«}r \Cur C} e T}N\f\ --H\a (}-:S—\f\e\{" 5{-{;\&,—3}3 .

'NE'»‘“L

X =

o
o | L
L
|~

-4

%
i

X 2 &

X 2. <

2x 2. <2

o
W L
el
wi~a
-

Y‘f\v\\}rip’i\ﬁ by a brockion less 4howm 4 will moak <
e produck less Yhan dhe other Yackar.

e

AR e B TR e L TR T L

lesson 22: Compare the size of the product to the size of the factors. .
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5. Johnny says multiplication always makes numbers bigger. Explain to Johnny why this isn’t true.

Give more than one example to help him understand.
W\w\.\kﬁg\icq%-mﬂ c\()e.ﬁ- ‘ﬂtb‘\* ij&kﬁﬁ molKe numpers
‘@:\gﬁe{v @’\"\K}k\.’%’\?\y\;“ﬁl’\ﬁ a nvmber (ke 'Z.\) bj
L E\If&(t:‘%“mn \éﬁ& -f\\am l m\\\ w,,:‘im\-\- i.\f\ On
produck less Ahon 2. Wokch ..o

N, e 2. ; IR,
3‘ Ay F i & A g - g
2 : :2_ .
6. Acompany uses a sketch to plan an advertisement on the side of a building. The lettering on the sketch is
—inch tall. In the actual advertisement, the letters must be 34 times as tall. How tall will the letters he on

the building? P . 3 .
: .5 "’{ Times *\ &\\ ey -)f\i’\cw\ T .

DY « »% = 2 ’\{L;\?) The \etber UJ-"#\\!I e
A5 }'2: :y\d}\e_:b %‘aﬂ .

i
o
N

3
=2A5% =251

7. lason is drawing the floor plan of his bedroom. He is drawing everything with dimensions that are % of
the actual size, His bed measures 6 ft by 3 ft, and the room measures 14 ft by 16 ft. What are the

dimensions of his bed and room in his drawing? : R@‘i‘m ]
e (L CL L W6 = 4L e
— |6 44— -;% ok bt = = h-' = |3 IR EANY \O..j T

| | e
_EJ B -fg EL il:zm obiglt= % h’ = | ‘%;. 4,
L gj}f T e her

SRR ATt

B

R AL L LT R e

Fr s e i ARG LI T L (YR, N i T T IR e e L A 4, A g
Compare the size of the product to the size of the factors. n
134 engage™  arz
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Name Date

1. Filtin the blank using one of the following scaling factors to make each number sentence true.

| 1021 0.989 1.00 |

a. 3.4x i" QQ =34 b. ‘ ,,Dli x0.21>0.21 €. 8.04x E}aqg < 8.04

a. Sort the following expressions by rewriting them in the table.

0.3 x 0.009 1%2.%9 « 1,004
o x 0,439 D. 1L x b.ad

0.2 x 0.l 106. 0% x 4.0\S

13.89| x 1.004 602|x 0.489 102.03i x 4.015

0.3 1x0.069 0.72{x 1.24 0.2ix0.1

b. Explain your sorting by writing a sentence that tells what the exprassions in each column of the table
have in common.

“Tn Yhe YiesT column | Ahe pared number 18 mu\%g?hf@c\
bj a 5’0{1\“"{@ Yocdor less thom A, so 4he Qroducts
\}J\\\ he \ess Ao Yre. bm\ed avmber. Tn Yhe |
second column Yhe bored number 15 mwhohed

RN :30.&\1}*\3 Lowdar greater Faon -

Lesson 23: Compare the size of the product to the size of the fartors,
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3. Write a statement using one of the following phrases to compare the value of the expressions.
Then, explain how you know.

is slightly more than  is o lot more than is slightly less than is o lot less than
5 X S o E I l
Vel W) heeawmse. O.A8Y is 3\"‘.’3\“‘\9
a axo9ss 15 sliahdly less than

4 \es5 thonn One

" (A | © . LGS s o tikte
b. 1.05x0.8 S S\\S\m-ﬂj NOTE. "\)v’\om 5 Decouse

O Mo one -

c. 1,725x0.013 ‘lﬁ O \0%’ \6‘56 "\"f\m’\

L 795 becowse O. 01D 15 o Yoy
’ Les5s Fhon one .

d. 989.001 x 1.003 x‘> G \t}jr AL A W\@\f\

1.003 because AEY4.004 18 o
Yok mode fhoen one .

» ) Yo } R . ! ,
e. 0.002x0911 15 5\1&\\"\“\% less Yhon 0.002 b&iﬂ&\f\fs& o0 s alite
s VeSS e One. .
4. During science class, Teo, Carson, and Dhakir measure the length of their bean sprouts. Carson’s sprout is

0.9 times the length of Teo’s, and Dhakir's is 1.08 times the length of Teo’s. Whose bean sprout is the
longest? The shortest? Explain your reasoning.

2 9 hines i D%\QK\‘E’TS \3_&36\\:\ f;pﬂﬂk‘\“ 1S -Ji“}l\!e;,,‘ “
\engM oL Too's longest pecomse v s shghly
Carson | - wore Aron 4 e 5 Phe, bengvn
Teo | 0% Teo's Dean sprdnt, Carsen's
Dhakar 100 B—— Detn  Hofout (_\b.%"f\& 5\\‘3@‘6‘:""& oecouS &
i ‘&mm the. teng i oY TeQ's W a Lz less thon & Twnes
5. Complete the foliowing statements,

e
hen use decimals to give an example of each. i e“ﬁ( M {)Sﬁ‘” Teos-

¥ axb>qgwill always be true when b is... @i‘@(}ﬁ(&" %){\C%\\“\ Oong .

A8 X \V2 = B 276% 7 3.4

* axb<aowillalways be true when b is...
LR 5 = Aol 3.4
A4 2 6.%35 =& 2669 3.1
Lesson 23: Compare the size of the product to the size of the factors.
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MName Date

1. Avial contains 20 mL of medicine. If each dose is%of the vial, how many mLis each dose? Express your

(}g QQ W\\ ;;;, m\, b 5 3\ ;(‘3 m\

answer as a decimal.

A0 il

TTT T = % 420m - 2. 5ml

L b :

DR L 2R

3 ot vial T o | | ‘

Vdose = 5 Eoen dose 16 D5 oml o
’ e oM

2.5

it

QQ %i, \'1\\

2. A container holds 0.7 liters of oil and vinegar. %of the mixture is vinegar. How many liters of vinegar are

in the container? Express your answer as both a fraction and a decimal.

A 25 SAS

oL 2Dl Bhe2S. 525
{/H"" k_—/ﬁ\i 3 & .- R
o IR . 0.5a5
* - & ° o, &L Sl
Nnegad = Tl There ore oL oc D, 935¢

0§ ﬁme_cjw GE A Ane CDM—QW\M’X

3. Andres completed a 5-km race in 13.5 minutes. His sister’s time was 1% times longer than his time. How

fong, in minutes, did it take his sister to run the race?

2.5 m - ; -
?;:*ﬂ:*z;g\ i (’}—% V3, 5 f}f C# {2+ “"}2: Q;g- \195
3.5 a1y T -

= .15 \'55%:\%\5 13.5
‘JL- \_) %en’ﬁ’\) + (0&75

‘975‘%'(’1*\’1'\’\5 ;09.;5

13.5x 1 3.5 x L

S5 goYel fan e yoee i 3025 min 63&5

Lesson 24; Solve ward problems using fraction and decimal multiplication.
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4. A clothing factory uses 1,275.2 meters of cloth a week to make shirts. How much cloth is needed to make

3§times as many shirts? P2t 5‘:}_ ’\TC?\‘W\‘} BAHELS . e
A 3 Nﬂ& S 42
Now XA 5 tenbns Lg £ ({0 A
:j;m;:{ EwALTS. 2
% L2752 (L0 £ 200+ 70+ S f’__,%? hundeed the
\ E& ];{m}] Yol id {1 {4 hondred ths 2 5%5 %‘ﬂwr&;é-@
x4 2152 ":ﬁ; 12 honded!
N } mj;r TAT5:2 = 3% 255.04 =165

= w@_mﬁy P s 3, 5% A2 m of clodh %mfﬁf—? 33 fime

5. Thereare-~ as many boys as girls in a ¢lass of fifth- graders i there are 35 students in the class, how many C‘s}r::{:“cf;j

are girls?

| ,_ ] Ui"\x-sr.‘s = DD

- . 35 = f
35 students Vumt = |
4 umts = 20

20 studeny< are g%f‘\s,

6. Ciro purchased a concert ticket for $56. The cost of the ticket wasgthe cost of his dinner. The cost of his

hotel was 2 i- times as much as his ticket. How much did Ciro spend altogether for the concert tic'ket,

hotel, and dinner? 4_% Uﬂ\‘%‘ﬁ - & Q‘_;.

Dimnec [T [T -t - 31
Dwanel # Jum%s\; 7 z‘:;
Voled = DbxaS = \GO

Tiekek | | h_]

Hodel

M%\jei&m (.m 5@@:’\% B,

{ Lesson 24: Solve word problems using fraction and decimal multiplication.
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Name Date

1. Draw a tape diagram and a number line to solve. You may draw the model that makes the most sense to
you. Fill in the blanks that follow. Use the example to help you.

Example: 2—:—§= 6
?
i
2
— | — < e
g 1z 3 &£ 5 8 3 4 5 6
3 3 3 3 3 3 3
Thereare 3 thirdsin 1 whole. ff2is-i;,whatisthewh0!e? 6

There are &  thirds in 2 wholes.

a. 4+ é = 5 There are 9‘ halves in 1 whole, If 4 is%, what is the whole? ?S
There are % halves in 4 wholes.

i ! | | E I e z ! v _ ;
\ 1 ! i 1 i i i ¢ i i j
A _ it - , -

e £ V% 2 % 3z L y C 4 %
b. 2 —:-%= % There are “"} fourths in 1 whole. 2 is % , What is the whole? 8

2 There are _B_fourths in 2 wholes. “Z
‘-=‘-“—‘_"‘(—--..______.,rr‘°\\_‘_,_‘_;__:______ PR i oag,
A 171 177 i B N
1 4 T | ; 8 RO S . b I} A [} 4
- 2‘ ' ;(-M - 2 -,
o FE4l §&d 2 e X 4 b %
o -
c. 5+ é = E - There are 3 thirds in 1 whole. If5is=, what is the whole? | 5
= 3 —_—
There are _} > thirds in 5 wholes.
% 2= IR I I O D I A 527 1
i. 1 % i 4 2.4 F N ) 3 ,,L:_p_____...&__._i... L L £< ¥ 1 H i
0¥zt 2z 3 " © s o s
d. 3+ —;— =\ 5 There are 5 fifths in 1 whole. If3 is§, what is the whole? | 5

There are 45 fifths in 3 wholes.
R o et 7o I NI I ML I A I O

SO WU NN SOV S TN SO ST W S TN SN S U R
i R 3.»»;3 AT Bt R BRI T N e T g e e TR e e B T B 0 W e AR L BT e e e
t4-22 = 3
Lesson 25: Divide 2 whole number by a unit fraction. n
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3.

1 1 i
a. 5+~2- b 3+E C. 4+§ d 1+g
P T T i
§ b3 ; } E.e d ¢ i 5.3 : ! 4 {sael!
voob o 3 5= c \ oz 3 P )

p
" [
N o

O -

5x0-% =5V

e. 241 f.o7+2 +2 h, 9=
8 6 3 %

25 g2 x¥e bl TrE s Tal YL Q4§+ 823 =2y

5 42 24 3b
b= g2y iz B T 5T 8 0 (b sl 5 9

For an art project, Mrs, Williams is dividing construction paper into fourths. How many fourths can she
make from 5 pieces of construction paper?

A —_ e ey v

¢ ) [ ' Ty i [ B St it - 7
{ 1 | i l ¢ [ i . i I ‘ ' [ ; : .
b ’ : ' ¥ ! ¥ ' L] f :
J ] I | N ] ] i t B ! N L

T

o

4 + 4

‘.-r?""'

3

— A
54 A4 220 T a4

o
o
RN

5
53;‘ i ’Z'O = q"" =

E\I\Yf): \\Ql\\;(}\ﬂ'\g COYN PG €.
A0 S{ww” S .

e g et

€ 2014 Camiman Care, Inc. Some rights reseved. COMIMaNEere.org
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4. Use the chart below to answer the following questions.

Donnie’s Diner Lunch Menu

Hamburger %!b
Pickles }{pickfe
Potate chips %bag
Chocolate milk %cup

a. How many hamburgers can Donnie make with 6 pounds of hamburger meat?

(Q'L% = br 3z \% b\'\o\mbufgefﬁ ‘

Dornie con moke 1% \ﬁ ooy fgers w Bh b psundd
o¥r hovmbuvyger me
b. How many pickle servings can be made from a jar of 15 pickles?

\S 59 71524 = 6O predie SerVINgs

Tac of 1S Prvekles.

¢.  How many servings of chocolate milk can he serve from a gallon of milk?

A gqalion = ik cups los 3 = b w2 =32 servings

e con Serye %2, Sexvings ok chocoloYe mik frona
QL gaAaNonN V.
5. Three gallons of water fllls of the elephant’s pail at the zoo. How much water does the pail hold?

s 4
AT g

- 3 x Y
- - \Lﬁ&\\ehs

f{ PQ}\ { 3 5@\\0 ™

The ponl holds V2 gaylens.

R R R AT T T i~ = T T B b LA MU o SRR YU b U SR ST 3 T et
F Lasson 25: Divide a whole number by a unit fraction. n
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Name Date

1. Draw a model or tape diagram to solve. Use the thought bubble to show your thinking., Write your
guotient in the blank. Use the example to help you.

Exampfie: 2:3 F -
: S - Y
1half+3
=3 sixths = 3
) .
= ] sixth
A
1 1 /
- 3 -~
2 6

I
¢l
-

¢ ‘o A S5vxdns +
/ N )
=

:q%mg\ﬂ\b =

[

TR AL R g e B ORI

Lesson 26: Divide a unit fraction by a whole number.
ESQQEM ON ,, engage Y 4629
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§e d.— TN

1 Fouean &2

— b; A exgnths =g
5 T = | eighih

_ AR NG N

d - +3= —:li. *\F\

fL g‘w\\f-ﬁ\

= B dwelkths = 3

et \ %"\,U Q\Q‘\)ﬁ
N

2. Divide. Then, multiply to check.

1 T 1
. A - p R & -
L1770 AT T G 2 110 = T80

Lesson 26: Divida a unit fraction by a whole number.
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3. Tasha eats half her snack and gives the other half to her two best friends for them to share equally. What
portion of the whole snack does each friend get? Draw a picture to support your response.

%\/\J 422 =1 hadf + 2

_ A THhs =2
— P oh ;Ob& Pr
O §arends = »?QQ(-J&\

! l §_W}//% Eoch Srend 36.%5 ﬂf of the snock.

4. Mrs. Appler used % gallon of olive oil to make 8 identical batches of salad dressing.

a. How marfv galions of ofive oil did she use in each batch of salad dressing?

1 gallon 4 gallon 3 %= & gallen + % = $Sisteenths = €

W ‘xl = 5‘&1“0!’1 ahwe oil in eoch batch

gt va
&~ a4 aliGA o
Z1?  How many cups of olive oil did she use in each batch of salad dressing?

b gallon = b cvps She uses Leup of ohve o1\
%H“f ol {tga\\on: L cup M e?“(.’h \30‘%\\ oF Salo
A1 W S T O T e d‘ra <5 f\ﬁ
I batcdh

5. Mariano delivers newspapers. He always puts E of his weekly earnings in his savings account, and then
divides the rest equally into 3 piggy banks for spending at the snack shop, the arcade, and the subway.

a. What fraction of his earnings does Mariano put into each piggy bank? . )( L g
. i - f . i «S ‘
savngs. 5521 Souern 23 Moriono puts 35 o
ST ) ’ A
I 23 fwafins Mo cormings
SE\QCK/ ! (}M‘L‘C?xde. = \ ‘\’U‘J e\ g -H'\ QO\C»\(\ P\ﬁﬂj b&\'\‘\ﬁ '
Subuway
b. If Mariano adds $2.40 to each piggy bank every week, how much does Mariano earn per week
delivering pg_;z)ers? % 200 N 4
e N S i AV L3 4 -0 ji20d4 |y 5
RS IRT RS .00 + .25 = 1+
I A v A A AN . ;
| 1.00 _ _ apd

T30 #7202y gl 2%.00 | s0¢ ]
2% .00 + 30d = 2830

COMMON
CORE

Lesson 26: Divtda a unit fraction by a whole number.
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Name Date

1. Mrs. Silverstein bought 3 mini cakes for a birthday party. She cuts each cake into quarters and plans to
serve each guest 1 quarter of a cake. How many guests can she serve with all her cakes? Draw a gicture

to support your response, .
‘ 4 Sour-hs n A whole

3
b J ‘o ‘J 2. Yourans D wholes

e

F (. v

r v *

' t . v
L1 .4 =N LA |

R ERbS

b———

Mrs. Slversten con serye A ﬁwfﬁ%
151 @bb\cﬂ"‘fﬂ' ok o CoXE .

2. Mr. Pham hasj:j pan of lasagna left in the refrigerator. He wants to cut the lasagna into equal sfices so he
can have it for dinner for 3 nights. How much lasagna wil! he eat each night? Draw a picture to support

Your response. L
| g3

T - = { dourtn+ 3

%%%% L 1 .3 veabmsts
oy L =\ Fwdfin
S T
5.

: . o .
3. The perimeter of a square is - meter. ™\ ‘5\"\‘\"’-
a. Find the length of each side in meters. Draw a picture to support your respofise.

| | V=S — _Am
{:jﬁ e \

= 4 Ynenheths ? ‘@"

b — o

]

The length ok eoeiy

= | fuwenhen N T
2A€AS Fh e \HHBHHHI
b. How long is each side in centimeters? i ’ L LN T
aop
'%_—Q (LAY S 43 ) &
i
T ook 10D om
= 10T o -
T Lo Ecch s1de (B SC‘W\
FERss: (‘._'.5-,::-?:0;: ,ﬁ,sﬁtyﬁ\h It R L s B LR | T b e G S e R S g

Lesson 27: Solve problems involving fraction division.
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4, A pallet hoiding 5 identical crates weighs % ton.
How many tons does each crate weigh? Draw a picture to support your response,

Lion Fe5 Eoch crale

d.

W r T e t Welans
vz ‘ | o Lhourin £ Welghs 2o
: \i’ R "5"\'“\39-(\%\9—%’\\5 %5 ;\'b'\'\'
rrr'-r.r.iri!:;;:! .
.Wﬁi:h:::h::;j ;\%wen‘%e-ﬂ\
-«.‘f“
?
b. How many pounds does each crate weigh?
"j%t:}‘%h = pmw\dio = o crpde wen ghs
- i’ﬁ' % 2000 100 pouwnas.
i !
= {DD pownd S
5. Faye has 5 pieces of ribbon, each 1 yard fong. She cuts each ribbon into sixths.
a.  How many sixths will she have after cutting all the ribbons?
1 .
Jf“m@ 5% <0
' t ‘ ; . . .
S R : I (L <ixdns ﬁ\gard_
20 Si% MRS in D yords
?O\\j& Wil \Wpye 30 5ixhs
akyec curting o\ the cibbons .
b. How long will each of the sixths be in inches?
L :
A5 oy, o, A
© 3 N Each aixih 15 6 Og” o “)O‘rd ‘
= T Y W, . ) A i
y < L s long:
| Coch Sixth 18 b inehe
R &
VA
* binches
%S#E:M@ |] ll;easts:n 27: :}?Il\.;f;ob!emsinvolv'rngfraction diviston. engageny _4G_4£
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6. Aglass pitcheris filled with water. %of the water is poured equally into 2 glasses.
a. What fraction of the water is in each glass?

A 2 b‘g’ ¥ = “z:.: ‘gl?; of he watec i3
}L 1[ I [ 0 in eochn 3\015;5,
AL U S . J

[ 42k

b. if each glass has 3 fluid ounces of water in it, how many fluid ounces of water were in the full pitcher?

S— - 333B=(, .
i!f T I ;\H\\*’ . (0 "ﬂ’\eje or it 49 "(;‘lU\\C;\
? N .{vaf % J i’\\)\‘S z d‘% Gunces "0 +h€*

Sj_a‘_i Eu\\ *?“ Yeher

C. If% of the remaining water is poured cut of the pitcher to water a plant, how many cups of water are

left in the pitcher? 2 'ﬁ QL = Cufs
4%-L=42 2ol 313 A Poz o evps
Y
Y2 - 3 %3 SRel "‘%5’(.‘; T . QPSS
S e S S(Rxk) (S 1) o
S ' e = ?Dmﬁi“’z' . ?)\ A z )
pland H e T T%e ke T —— COPS
= 5 } + i .
o 2- . g2 L 9
Y pa e o T e, QUL
e cups 0¥ woder ore ;?c‘ !(a_cs P
- i

i

Velk in the pikeher.

¢ *Dje Cvps

s R T g WETRETY S

Lessgn 27: Solve problems involving fraction division.
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Name Date

1. Create and solve a division story problem about 5 meters of rope that is modeled by the tape diagram

below.

5

T
{ A | S"’" L{ - QAC)
1 . . .
% 2 % He will one 20 Your ¥hs.
J
!
? fourths

D €40 has S mweders ol o, . \-\a o s codn me Yo
Q%\z\O\\\;j WA S;@Q{ﬁ\s , \%‘U‘} W\C\‘i’\j %u(__},hﬁ b\h\\
\’\& \r\&\i < C\\ -?\ﬁg e-jr%\e,-(?

2. Create and soive a story prohlem about i pound of almonds that is modeled by the tape diagram below.

1 I
4 4 7 P
— . - - - A kg entieths SN
i
~ T Imm--- tm - ’ - ‘\ #wan}he*’}\

Aurelio bought § pound o awmends. She spliks

e Q\W\Qﬁ'\ds é"ﬁ)\k{?’&\j {Y\'\‘B S bajs, H’Q\,&} (AN
Pounds of almonds are in eoch \oo\j"?-

S -
e ore 30 pound o a\mond ¢ W eoch bog .

A

| tesson 28: Write equations and word problems corresponding to tape and
ggyg;MGN [ number line diagrams. engage ﬁy _&_(5.55
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3. Draw a tape diagram and crgﬁfe a word problem for the following expressions, and then solve.

25 - | She. W\ k\(}\gﬁ, b shees |
?\nu‘f\g \06&,&9\3% A @‘\2;7;&5. She wonts o cot eqch pizzoe

\C\;‘:\t *):;:df; How AN shices will she. hove
Tog ednec !

i - ; )
L , C o Cone W €.
b. S+4 iz R Lt}f\(m\\fau\a‘ \MH hay

, . - b 3 ‘er WY

=4 kel The =4
=\ Ywd ¥y | | | |
ﬂ&c\i\j bought 3kq of Neur. e poured i equolly mie H

g&@(ﬁf;ﬁg\\gfg % Fow mony Ky o+ Pour will be i coch

. :}l—-:~3 _
. .‘ | . A

=\ gom‘%\ T | She will eat 2 ‘pounc}

EG) 'flflk}@\'; s = 3 o& sunf\ower Secds

2\ Fwaf everycoy -

Lisa bc\xgh% & pound ok sunflower sceds. She wants do dide. them

ePUONY over 3 days as o Spoeic. How many pounds ok sunflowre s
d. E% seeds w\@ she eoct eoeh daﬁ? IR
. 3
15 e S

it T L
Rl sl I e ol 1S Siians,

Thee boughk D of (bbon. We oo eodh meder 1nto
S;\&—X\\S \5@\1\3 W\C\Y\j 2:&»\'\\'\5 UL.H\\ E\'& Yo ¢
Ao 9 eXner !

TR s B e DY N R R T AN S W e e I e D U I e B At
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Name Date

1. Divide. Rewrite each expression as a division sentence with a fraction divisor, and fiil in the blanks.
The first one is done for you.

1 There are 10 tenths in 1 whole.
Example: 2+0.1=2+ P 20
There are _ 20 _ tenths in 2 wholes,

O N i ;
a.5+01= 377650 b‘3+o.1=<g~§:-§6v,-?,0

There are 1’0 tenths in 1 whale, There are {0 tenthsin 1 whole,
There are 50 tenthsin 5 whoie;. There are 80 tenths in 8 wholes.

I P
C. 5.2+U.1=5’2"1—E‘9_52“ d 87+01= %,T‘T"Tg -8,7

There are 50 tenths in 5 wholes, There are %U tenths in 8 wholes.
There are 5)\ tenths in 2 tenths. There are 7 tenths in 7 tenths.
There are 5‘2 tenthsin 5.2 There are g 7 tenths in 8.7

- 4 . _
e.5+0.01=5‘7‘ﬂ ;0{)-500 f.8+0.01:g‘=;.-rt50: %00

There are 100 hundredths in 1 whole. There are fDD hundredths in 1 whaole.

There are SOO hundredths in 5 wholes. There are %DO hundredths in 8 wholes.

i % . 3 1
g 5.2+001 = 5;2 ‘T,‘EE 1520 h. 8.7 +0.01 = %7 T;’ET@:'X’?'O

There are 500 hundredths in 5 wholes. There are 5(}@ hundredths in 8 wholes.
There are QLO hundredths in 2 tenths. There are Z D hundredths in 7 tenths,

There are 5& hundredths ins.2 There are % i hundredths in8.7

P

Lesson 29; Connact division by a unit fraction to division by 1 tenth and
CQMM@N ! numdredth engage ny
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2. Divide,

a 6+01 h. 18+0.1 c. 6+0.01
- L ‘ ‘
=g 3 - PR - i
(10 io - !.% - jh —- &) b }EC
=0 = IR0 = 00
d 1.7+0.1 e 31+0.01 f. 11+0.01
. );_ 3 i . H ,,.L-.
=0T T 70 =3V ¥ 50 = 1= 8o
- l_] - j; }D@ = E! ;OO
g. 125+0.1 h., 3.74+0.01 . i. 12.5+0.01
i i ; - § .-L P . A '.L'
\x5 T 76 = 3. 74 + 6o =125 * %o
=1, 250 = 374 1,250

3. Yung bought $4.60 worth of bubble gum. Each piece of gum cost $0.10. How many pieces of bubble gum

did Yung buy? %(QO _:__ O.i(} ) L—\Q) . ?% - LHQ
Jang Yoought Hb ereces of bubble gum .

4. Cheryl solved a problem: 84 +0.01 = 8,400.
Jane said, “Your answer is wrong because when you divide, the quotient is always smaller than the whole
amount you start with, for example, 6 + 2 =3 and 100 + 4 = 25.” Who is correct? Explain your thinking.

C)nergﬁ soled the problem corceerly. Whod Tane sand 18 Q‘SO
eotveek, ‘puk no¥r Aways “yve esPecially when dinding
With decimod s, Cheryl con Nelp Tane dndevsyond b
showing her o Yews exomE\es: gy =)= 4, g42i00 = 0.8Y,)
89+ 0.Cl= % unp.

5. The U.5. Mint sells 2 ounces of American Eagle gold coins to a coliector. Each coin weighs one-tenth of an
ounce. How many gold coins were sold to the collector?

A+rel=2+ 7 =20

A0 ge\d coms were 551d Yo Yhe collectoc.

g NI Ry T e L T e ST L Re kR T ST e AR S SRR T D 0 e e T N e e I T g e g

Lesson 29: Connect division by a unit fraction to division by 1 tenth and
CQMEQQQ 1 hundredth engage Y saes
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Name

Date

1. Rewrite the division expression as a fraction and divide. The first two have heen started for you.

37 37

. 27+03== b. 27+003=—=

a. 2.7+03 03 2.7+003 oo
_27x10 _ 27x100
T0.3x10 T 0.03x 100
=27 _ 270
- T3
=9 - G0

d. 3.5+005=

— A5 % (D =

i

O

5
. 100
¥ G0

QO winy O

ol

Ek

o w

7

f. 0.42-+0.07-=

-
=

Wl

oML
0.0

0, U2 % 1C0
0.Q7T» 100

-;nF-—F'-'
7
(9

S i BT R e TN B e e T ot s R o e

COMMOMN
CORE
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10- 3 i.0%

h. 1.08+009= o Oq

% x10 . 1.08 %100

et

C-4%10 0.0qx 100

=~ 10% - 10%
a g
v

= - V2
| 2.4 ‘ A
i 36+12= ‘*r“"""“ i 036+012= G,V

e =125 ale
z '5=;ci>\m T 0.1l % 00
3%
«—?;@» A
2 = A
e, A1S . bas
k. 175-+25= %2‘5 L 1.75+0.25= 0; 9\{)
- l_g‘% XIG_ o M
HH I @ﬁl@»‘(ic‘(}
_\1s = 13
25 25
7

= 7] =

2. 15+ 3=5. Explain why it is true that 1.5 + 0.3 and 0,15 + 0.03 have the same quotient. :
They hove he some C{}ub*\eg\% becawse T con rew s \"‘*ﬁw‘ﬂ
g\eﬁm oy -ffb( M3 o Show H\éj ave. ol e%\w«\ © 3.
15435 —— IS wholes + dwholes= 5.5 -5
L570.37 5 = |5 fenwns = Ddenho= 5 isa 15,5
ONS20.0% - 5 — \Therdaced hs 2 Shundred ths= 5

IS xR0 15 5
COMMON
CORE

P

e an o0 3
Lesson 30: Divide decimal dividends by non-unit decima! divisors.
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3. Mr. Volok buys 2.4 kg of sugar for his bakery.

a. If he pours 0.2 kg of sugar into separate bags, how ::Eany bags ofsugar can he make?
24 ad o | ‘
2.4+ 0,2= 20 - adxo ay
Tz O X 1O 2
\Jfﬁ.. con wapke Vo \9&35 o Sugar.
b. If he pours 0.4 kg of sugar into separate bags, how many bags of sugar can he make?
pds 0.4 §. Ao Al
= 0.4 %10 Y
Ve con meke G bogs ot 5 wgal
< %,
4. Two wires, one 17.4 meters long and one 7.5 meters long, were cut into pieces 0.3 meters long. How 5%

many such pieces can be made from both wires? 7
" 1 T4y 780 7% o MR
Wire. #1214 +03- E ,«6—%‘%“6—%@_@,5% 24

-2
\}\}{%L' "—]5 0.% = 5':__ T3S x \D “’"ji—':,_;ls ’%—
ARl C:3 C.3x0 T 3

55425 = B3 ESVE)
, | , | ‘ =
DD pieces con be made Q&m bath wires . 13

Mr. Smith has 15.6 pounds of oranges to pack for shipment. He can ship 2.4 pounds of oranges in a large

box and 1.2 pounds in a smali box. [f he ships 5 large boxes, what is the minimum number of smali boxes
required to ship the rest of the oranges?

ib Q«L\__ '1'596 3, L-;. 12..- 51{55

— X 5 — 20 | V2
24 {au {29124 |24 | 2.0t TEIGW 3 bx 1o
ARG N ———— 2 *
\arge =1 amoll=1 ] 2@3_,
A

D small boxes are -reub\u*(ed Ao 5¥-\\p Yhe ces =3

O e Lranges
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Name

Date

1. Estimate, and then divide. An example has been done for you.

78407 =770+7=110

78.4
"7

78.4x 10
- 0.7 %10

784
"7
=112

O
10

U
2
Y

2 |
e

i

= 33N

~-Estimate; arid then divide. The first one has been dane far you.

732 +006~=720+6=120

_7.32

" 0.06

7.32 % 100
" 0.06= 100
_ 732

6
=122

8. 942 +0.03 =
- AN
0.03
AMZ%I0E

| Lesson 31:
| Date;

2014 Comman Care, Ine, Sore Hights resenved. COMMONCore.org

112
71784
-7
8
=7
14
-14
0
& ‘3 3 b, 1.52 0.8 =~
S22 N-v
...'LE i <
1317 0.« %
a4z - 1.2 % {0
_ :2?: 0% » 10
O - VS, 2
o %M
‘v_:-‘ . . "\“\-
122
6732
=6 _
13
-12
12
=12
0

b. 39.36 + 0.96 =

3 QUL = 34.3¢

U .46
T‘T;%j, = 3G. 36 %180
""'—1:“2, 0. -~ 100

A5 = BBk

T 496

Divide decimal dividends by non-unit decimal divisors.
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3. Solve using the standard algorithm. Use the thought bubble to show your thinking as you rename the
divisor as a whole number,

2.462+03- 150 Piits‘z b. 3.16-0.04= ¢ T

YENname
rhset 08 owhile pombal

4, The total distance of a race is 18.9 km.

a. If volunteers set up a water station every 0.7 km, including one at the finish line, how many stations
will they have?

[9.9 =16 . 189 11134 ‘ﬂ\@uﬁ’ will hove 27

IR g wotee sYofions .

&
b. If volunteers set up a first aid station every 0.9 km, including one at the finish iine, how many stations

will they have? Son .
q Eﬁ* Thee will e 3 Sivst avd s¥echions |
1

5. Ingaiaboratory, at%echnician combines a salt solution contained in 27 test tubes. Each test tube contains
0.06 liter of the solution. If he divides the total amount into test tubes that held 0.3 liter each, how many

test tubes will he need? . . 5. 4
o2 xVWo --”f"z' 5\]&;:2__

2 | I
X (Z_\\o ndited s C

o Bewllneed b Yest ipes.

| Lesson 31; Divide decimal dividends by non-unit decimal divisors., n
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Name Date

1. Circle the expression equivalent to the sum of 3 and 2 divided by %

3+(2+3)

§+(3+2}

G-%) =28 28+ (5-3)

3. Fillin the chart by writing an equivalent numerical expression.

a. Half as much as the difference between 2 i and E. (9\ B 5' T
H 7% )7

b. | The difference between 2 and = divided by 4. 2T 2
- |
¢ A third of the sum ofg and 22 tenths. j,. ‘ 7 22
ERR NI T

d. Add 2.2 and-;-, and then triple the sum.

4. Compare expressions 3(a) and 3(b). Without evaluating, identify the expression that is greater. Explain
how you know,

Expre ssion_ a) \5 grcajﬁf thon ‘he expression 3(b) |
(1% -3)+2 7 Qi-F)=

?)(}:\'Y\ Pﬁpfﬁ?‘&-“}h 3 E\OVQ: _ -H’\Q 5?«*{\@, Cﬁ\ \;\dend p
Expression @) s AN ide‘d W L €9 wod pow‘r:: )
TR essien (b)) 15 Aivided inde N e?m pw-’rs

Lo Exeression @) mwed e greadec,

COMMQN | Lesson 32: Interpret and evaluate numerical expressions including the language

CQRE‘ [ of scaling and fraction division. engage ny 4H£
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5. Filtin the chart by writing an equivalent expression in word form.

T “’\WC &r%\u-%r\ﬁ Yimes the Sum ok 1,75 Ex(1.75+§)

b. T‘ne. d\ﬁ— ey e’nc,e,\ petween :c:*' andd the 5—% < 02)
Qrdvct of ¥ and I Yenth s
4

“ \':c}x,ef -3\3%‘:\1?(‘55: --}r;w\éis -ﬁ\e DU GJ;’ \*1 3 and %

(1.75 + g) x

T Tee dnded by the product of 7 ond % %%

2« (}—xf}

how yvou know.,

Compare the expressions in 5{a} and 5(c}. Without evaluating, identify the expression that is less. Explain

T Laow Hhe explession () WS g{eo@ru Fhon éx@ressmf\
(Q) TN (0\3 Yre. Bum ugc VIS and B s mw\"\';phec}.
\&3 Cu N m\oﬁr \ess Yhon one . n (a); the dome SUM
v m\x\-}\»\p\\ﬂer_\ \Q:j o nvmber greater Pron one

7. Evaluate the following expressions.

a. (9-5)==

—r . 3
.. .. 10 A
= \L - fz = Vi
= 5
G
i1 3 _5 3 .
d 2% %3 e. Half as much as (Zx 0.2) f. 3 times as much as the
) uotient of 2.4 and 0.6
._Lx(i-,5_> 2o =)L B y
2XA5 03 qre) 25 (2.47%0.6)
A (s T
=3 x| T 3 x4
. A - 2
- ~ 4o lL
L n32: Ink t and evaluat rical luding the |
ES%M@N D::c: ;El%?ﬁgz:d?raacln?):;ﬂg:inca expressions including the language eng_age ﬁ_‘l_

D 2014 Comrman Care, Ing, Sorma Hights reserved, commoneore.org

5 1
b. 3 x(2x3)

.

(1--)

4

H
L)J![" ml;—n
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8. Choose an expression below that matches the story problem, and write it in the blank.

2 2 2 2 2
5 < {20-5) (5 x20) - (5 x 5) $x20-5 (20-3)-5

a. Farmer Green picked 20 carrots. He cooked g of them, and then gave 5 to his rabbits. Write the

expression that tells how many carrots he had left,

2 .
Expression: 2 X ZO - 5

b. Farmer Green picked 20 carrots. He cooked 5 of them, and then gave % to his rabbits. Write the

expression that tells how many carrots the rabbits will get.

Expression: %_ X (\ 20_ 5)

C@MMQN Lessan 32: Interpret and evaluate numerical expressions including the language

ny
i of scaling and fraction divisian. engage
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Name Date

1. Ms. Hayes hasg liter of juice. She distributes it equally to 6 students in her tutoring group.
A

a. How many liters of juice does each student get? %5:7“{'?; : l
2 b [
U . . BT L.
- Tz Lder Cach student gejfzs L2 \Aft’f o«g- Juee..

b. How many more liters of juice will Ms. Hayes need if she wants to give each of the 24 students in her
class the same amount of juice found in Part (a)?

ﬁixg\q aL-zL =\3zL

. ey - i
= 2y Ms. Ho\je_s*wa\\ need |z

- '\2-‘ -:;LL- b-is‘;)u\tﬁ‘ i’\ie(&ﬁ(\ \r\-xf@f’ W e .
s Al Lo¢ Q4 shwden ¥

. . . . 1 .
2. Lucia has 3.5 hours left in her workday as a car mechanic. Lucia needs 3 of an hour to complete one oil

change.
a. How many oil changes can Lucia complete during the rest of her workday?

3,5 -4 = ?)’5 + % =] hal$ hours

I i 4 Voo T M-ﬂj_ —I 5%\@, ¢ an CO‘V\@\EA& 7 Moyl

b. Lucia can compiete two car inspections in the same amount of time it takes her to complete one ol
change. How long does it take her to complete one car inspection?

. \ ‘
-}2’; 22 = ?l;%‘ S She com Complede one car

; ] wsgechton v VD
v tes .

R ——

. How many inspections can she compiete in the rest of her workday? 5\ . \ k
% ¢ CG“ Ob"‘ ol o

R z‘@" here are 2. Sff)\xr-ﬂ\j n 3 La "Y\Q s
N m&geeﬁmm R

There ace. QL S;b\}f-\)f\.s tn ’:? Hhe cest o Ner

=32 2L nT,
R R Tﬂi B FrAT L ﬂg{&&{\¢ k3 \-la—}o gt%ft“‘k{f:}}i}o$;n~“;5‘f\qv \."MWQ(‘%“ ng‘j - '-E
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3. Carlo buys $14.40 worth of grapefruit. Each grapefruit costs 50.80.

a. How many grapefruist does Carlo buy?

Yigyo = $o.50

e

C arlo bug:s '

% grape frwt .

1m6\;¢§]
L&

C:Jl-r:-

\qd x10 gy -

o¢ -1t ~ %

b. At the same store, Kahri spends one-third as much money on grapefruits as Carlo. How many
grapefruits does she buy?

4,36 $d g0 >Yo.50 - Kahr, \N:jﬁz .
5?\9-;:15 L gmpe%m%

J__._k 4.%0 %It . 4g L

B S

. ;f 0.8 x0T 7
B8

-

ops [

4. Studies show that a typical giant hummingbird can flap its wings once in 0.08 of 2 secend.,

a. While flying for 7.2 seconds, how many times will a typical giant hummingbird flap its wings?

_ : T.2. x100 —— ) ) _
1.2 0.0%- G 0% % 100 L+ con 'Q\QP s wings
J20 A0 Yimes n T2
C3 Secen As

= 90

b. A ruby-throated hummingbird can flap its wings 4 times faster than a giant hummingbird. How many
times will a ruby-throated hummingbird flap its wings in the same amount of time?

o t4Y = 360 'TL?\f con -ﬂap "}}5 Wmnas
360 Hwme s in 1.2

Seconds .

N AR e M e 2 T B N Y e T s BRI M e

SRR 3 P
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5. Create a story context for the following expression.

~x ($20 - $3.20)

Chris had %20 He bought a \30\3 oh pens Lw*
65"2@/ Yhen spen 3 of Yhe rest on
No b ooles | \%ow mvih ded Cher s 59@\%\
on wnotebooks !

b. Create a story context about painting a wall for the following tape diagram.

: T ?o«lﬂk& e bortom otk of
W\U) bedroom wall blue - T
Maen  poned 3 & the blue
wall ved . W hot Lrochon ok

Yhe wall s red

N o R T R b i

- R R T AT e B L e e T I RS T R L TR L e et A Ry U D T e L Ty
Lesson 33: Create story contexts far numerical expressions and tape diagrams,
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1. Multiply or divide. Draw a model to expfain your thinking,
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2. ifthe whole bar is 3 units long, what Is the length of the shaded part of the bar? Write a multipiication
equation for the diagram, and then solve.
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The haded pact oF the baf is 21 wiks 104\5 .

. 3 . .
3. (Circle the expression(s) that are equal to X6 Explain why the others are not equat using words,
pictures, or numbers.

b. 3+(5x6)

=3%30
= 0. |
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4. Write the following as expressions,
a. One-third the sum of 6 and 3,

5 X(6+3)
b. Fourtimes the quotient of 3 and 4.
Hx(35W)

€.  One-fourth the difference between E and 51-
} (._Z-.. _.L)

5. Mr. Schaum used 10 buckets to collect rainfall in various locations on his praperty. The following line piot
shows the amount of rain collected in each bucket in gallons. Write an expression that includes
multiplication to show how to find the total amount of water collected in gallons, Then solve your

axpression.
X
X
X X x_ x X
%lIIIIIH,HEIH.‘IHI“HI»
0 1 2 3
} 2
S+ 1P+ IFIT2F +(2x2F)
q_xz_ 2AS i 2X3

=Z th+—g +2+7g T2¥ HH+7g

iz Frgelpodr
=)2 + 2=
¢ Me Schaum collected 15 Galloas

- 6
- ZS:;;" = IS- "1%‘ of water.
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6. Mrs. Williams uses the following recipe for crispy rice treats. She decides to make -:5011' the recipe.

2 cups melted butter
24 oz marshmallows
13 cups rice crispy cereal

2. How much of each ingredient will she need? Write an expression that includes multiplication. Soive

b. How many fluid ounces of butter will she us

by multiplying.
Z.XZ_ 3_;; .
Btd‘fer:-%”x 2cups="3 =3 ’I’If&CuPS
2R2 B
Marshamallows: 5 % 24 ¢2. = rf::.,.—u'—: =16 o2,

Ceral : -Z- 13 Cups = -2—%}'3‘“:: %{’2‘: @5 cups

she will need 1% cups of buber, 16 ounces of mocshmallous,
ond &% cups of Yice ceisgy ceveal.

{Use your measurement conversion chart if you wish.)

| Cup = & ovnees J%XQ:OXQ)"‘(?X&)

She will use (05 Fluid - gt 22
oupces of hyter. 2

¢ When the crispy rice treats have cooled, Mrs. Williams cuts them into 30 equal pieces. She gives two-

fifths of the treats to her son and takes the rest to school. How many treats will Mrs. Williams take to
school? Use any method to splve,

30 30
—A T 12
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o School.
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Name

Seth

a. i-x-i-s:/-?l— f

Multiply or divide using any method.

a tixn2=48.0 ,(3"52:”(%)

H——?‘—'
20
}420
TE olkths)
e, 12003

=(12X(00)% (203 K100)
=,200%3

=400
3
e 128x3

= (2% + (KD
=q+5E
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Multiplication and Division of Fractions and Decimal Fractions

Date

1. Multiply or divide. Draw a model to explain your thinking.

P o
-

-

b. 1.5x0.32
=(1%0.32) 4 (0.5 %a.32)
=0.32 40.06

:O.'-J-g

d. 1.2+03

=(L2X10) % (0.3 Ato)
=12 %3

=)

f. 1024+3.2

=(102.4 Wo) % (3.2%10)
=Lo24 +32
=32
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3. Filtin the chart by writing an equivatent expression.

2. Orie-fifth the sum of one-half | A
=X(F+3)

and one-third
h Two and one-haif times the i

sum of nine and twelve 27 X (‘? +12)
[d Twenty-four divided by the

difference hetween 1%aﬁd§ 2}-{- "":" C fJi —::Ii—)

4, Acastle ias to be guarded 24 hours a day. Five knights are ordered to split each day's guard duty
equally. How long wilt each knight spend on guard duty in one day?

2. Record your answar in hours,

i,
/540 Each Keight will spend %8 heurs oo
%o guard dajry in ene day.

0

b.  Record it in hours and minutes,

16 of bomin =6 min Each ¥right will spend hours
& of bormin = B8 min and 4§ mingtes on guard o\tﬂy
5.8 howrs= I hours Mg erivuttes 10 00 day

¢ Record your answer in minutes,

V hour = 60 aminwdes 1y (aesthe)

% 6¢c
& howr=—win, g 00 Each ¥night whll spend
=48% lhe —.?.,_ﬁﬁ-ierﬂ) $) 288 miouted on 3\&&:6
bomn dely 1 oneday
= &£55.0Mmin
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5. On the biank, write a division expression that matches the situation,

\
a. 5 b 2 Mark and fada share 5 yards of ribbon equally. How
much ribbon will each get?

I
» 1
b. 5 V2 it takes half of a yard of ribbon te make a bow. How many bows
¢an be made with 5 vacds of ribhon?

¢ Draw a diagram for gach problem and solve.
) 4.
L52=27

5”“\“"15:.: [0
5
/‘“"’/Lﬂ_\-

T [}

_" t'_ : 1 | '] Y T '
: 1 t t 1 ' . ¥ ' 1
i L ! i 1 ‘: r N : :

i
—p
2

d. Could either of the problems also be solved by using £x 52 If so, which one(s}? Explain your thinking.
512 =5%%
DN}A?% by 2 is the same ac -Iakm < of &m@%’f@)
which means mulﬁp]y?%.
+-X 5 is the Same as 5§ X 3
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8, Jackson claims that multiplication always makes & number bigger. He gave the following examples:

#  I¥ftake 6, and | multiply it by 4,  get 24, which is bigger than 6.

" f | take i-’, and ! multiply it by 2 (whole number], | get -:-, or -;- which is bigger than -}.
Jackson’s reasoning is incorrect. Give an example that proves he is wrong, and explain his mistake using
plctures, words, or numbers. ]

- is smaller than
1 L

7. I coltected honéy from 9 different beehives, and recorded the amourit collected, in gatlons, from each

hive in the line plot shown:
L 4
x
x
® x
x x 4 ®
{ T 1 T T L] L} T { T T T i T T I T 1 T T L} L3 I
[ | b It 2 H n ™
Gaions

a.  Shewants 1o wrfste the vaiue of each point miarked on the numberfing sbove (foints Fiv} irs teyms of
the jargest passible whole number of gations, giarts, and pints. Use the line plot above 1o fill in the
blanks with the correct conversions. (The first one 5 done for yoil )

i 8 gat_ 3 qt__ O m
it. l gal 2‘ qt O pt
A eal O & 1 pt
i 2- gal Z gt ] pt

i
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b. Find the total amount of honey collected from the five hives that produced the most honey,
- =
| unit= 25 gallons
. s
5 unrts= X 2-3-gallens

=(c%2)+(5K%) Trom+he five hives that

=10+ Preduced the mast honey.
=lo+3%

=13¢ gallons

|32 gallins of 13 gallons
“and | Pint were Colledﬁcl

c. Jlicollected a total of 19 gailons of honey. if she distributes alf of the honey equally between 9 jars,
how much honey will be m each jar?

199 = 2q
There will be 27 gallons of heney 1n each jar.

d. Jill ysed i-ofajar for baking. How much honey did she use baking?
i
% o{: 21‘1‘ Sanons
= 3 X _‘l_?i
ki She weed 15 2 Gallns of honey

{
—_ J
=32 for baking
3
19
=1z = 17z Salons
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e. Jilt's mom used %of a galion of honey to bake 3 loaves of bread. if she used an egual amgunt of

honey in each Joaf, how much honey did she use for 1 loaf? \ \ l
pp— -L rerpe—— Ap——
i R R
P

T
She ued T3 oF a gallon of honey for 4. loak.

)

f. 1il's mom stored some of the honey in a container that held ; of a gallon. She used half of this

amount 1o sweeten tea. How much honey, in cups, was used in the tea? Write an equation and draw
a tape diagram, I

B Jix—& 3q\\m :::% 3qllon
"
\ %ﬂﬂ“ﬁn :% X ]ﬁq“(Jﬂ
\ J | 8’ % f6 cups
C ; 3#&
? &

She used 6 cups of honey inthefen. = 6 s

g- il uses some of her honey to make fotion. If 2ach bottle of lotion requ;res galion and she uses a
total of 3 gallans, how many bottles of lotion does she make?

3 g3kt =12
She ra¥es 12 bottles of lotion.
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Grade 5 Mathematics Reference Sheet

FORMILAS
F =
w Right f Volume = B
CONVERSIONS
1 contimoter w 10 millirnoters T cup = 8B fluid oimces
T meter = 100 centimetars = 1,000 mitlimaters: 1 pint =2 cups
1 kilomister m 1,008 maters 1 quart = # pints

1 gallon = 4 quarks.
1 gram = 1,000 mitligrams

f kitogram = 1,000 grems 1 Btar w 1,500 mifititars
1 kiloliter = 1,000 ifters
1 pound = 16 ountes
T ton w 2,000 pounds 1 mile w 5,280 foet
1 miile = 1,760 yards

Grade 5 Maﬂmmaﬁcs'ﬂeference Sheet

FOURRTULAS
el | Volume = fu
| Ao . :
. - w Right Hactangulsr Prism " = Bt
CONVERSIONS
1 centirneter m 70 millimeatars 1-cup m 8 fluid gunces
tmater = 100 centimetars = 1,000 millimetors T pint =2 cups
thilometer » 1000 moters 1 quart w2 pints

. 1 gallon =2 quarts
1 i o 1,080 mithgrams

# kiiogram = 1,000 grams ¥ literw 1,000 millilttars
1 kflofiter = 1,000 itars
1 poursd = 16 cunces
¥ ton w 2,000 pounds 1 mile = 5280 foet
1 mile = 1,760 yards
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